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Topic:- CDP_P1_CTET

1) Assertion (A) .

It is especially important to provide print-rich environment to students during early years of their
schooling.

Reason (R) :

Development has sensitive periods during which children are especially responsive to
environmental influences.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.

e (A) :

Al 1A % AT Fu0 F FH1al & ara9 §901 ATarEe0 T8 H]
39T =7 7 7g=aI ¢ |

FET(R) :

faTT & 9 dasddia 99w gid § Sas R0 g5 arEEi g9Ell |
forae: stwarefia 2 § |

Tl faen =4

(1) (A) & (R) ST4T 721§ ¥ (R), (A) T T =TT F7AT |

(2) (A) dIZ (R) =TT LT § 1% (R), (A) F7 LT =20 7L T

(3) (A) ET & a1 (R) 1t 2 |

(4) (A) T (R) e T 2 |

[QuTstion ID = 1]][Question Description = CTET_P1_PART_1_CDP_SET_121_Q1]
2. 2 [Option ID = 2]

3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2) Although domains of development are interrelated yet development of intellectual abilities such
as logical reasoning are a significant part of study under domain of development.
(1) Emotional
(2)
(3) Cognitive
(4) Social

Physical



it FF F 45 uF-gAL T gataa g ¢ e ot Sihe® auar 59 F
AT =TT TR 1 B B 99 % saig a19e =7 § 987 97497 2 2

(1) ATIATHF
(2) sty
(3) HFTETHT
(4) mraTforR

[Question ID = 2][Question Description = CTET_P1_PART_1_CDP_SET_121_Q2]
1 [Option ID = 5]
2 [Option ID = 6]
. 3 [Option ID = 7]
. 4 [Option ID = 8]

A W N -

3) During childhood which of the following agency acts as primary agency of socialisation for
children ?

(1
(2
(3
(

Social media
Family

Law

4

T e e e

Religious organisations

ITEISF FEaTEFT & 2W, 9 § T FIA-91 9947 g==91 F TTETS e Hif
ITITHF FEAT AT GiEFT 9 2 2

(1) ATHTIST Hite AT

(2) TET™

(3) FT A

(4) arfeF Fw
[Question ID = 3][Question Description = CTET_P1_PART_1_CDP_SET_121_Q3]

1 [Option ID = 9]
2 [Option ID = 10]

. 3 [Option ID = 11]
4 [Option ID = 12]

A WN =

4) According to Jean Piaget’s theory of cognitive development, at which stage do children begin
to imitate others ?
(1
(2
(3
(4

Sensorimotor
Preoperational

Concrete operational

T o e e

Formal operational



stie foaTs & d@smareas s & i % aqar, & =590 0T 959 399 7
FTAL/TAFA FAT = FT 3T ¢ ?
(1) FA=TTHS
(2) TF-A AT
(3) = AT
(4) dra=rie JfFaTas
[Question ID = 4][Question Description = CTET_P1_PART_1_CDP_SET_121_Q4]
1 [Option ID = 13]
2 [Option ID = 14]

. 3 [Option ID = 15]
. 4 [Option ID = 16]

A W N -

5) According to Jean Piaget’s theory of cognitive development, at which stage do children begin
to remember events in correct sequence of past, present and future 7

(1) Sensorimotor
(2

)

) Preoperational

3) Concrete operational
)

(
(4) Formal operational

St foramst & "see B Wi o agaw, B =390 9T a= "EarEr i
I, TAA 17 TIEATIHT F T F9 9 13 7697 945 52349 8 2

(1) HEFATTHS

(2) TH-ATFATES

(3) = HiwaTH=

(4) Ar=TiF HiEwaTaT
[Question ID = 5][Question Description = CTET_P1_PART_1_CDP_SET_121_Q5]
1 [Option ID = 17]
2 [Option ID = 18]

3 [Option ID = 19]
4 [Option ID = 20]

A WN =

6) According to Lawrence Kohlberg, individuals at stage judge their and other’s actions
in terms of needs and wants.

(1
(2
(3
(4

Obedience and punishment orientation
Good boy-Good girl orientation

Law and order orientation

T o e e

Instrumental purpose orientation



=

ATEH FIgean & AqATT, Ak 0 FT 9T q94 1T A & 2AgW 7l T84

A Tt F waed F WY E 2

(1) FETTA T =T HTHA=TH

(2) =T ASHT-A=HT AHT ATHH=TH

(3) FTAA AT == Frata=ma

(4) =it aruters afafEaam
[Question ID = 6][Question Description = CTET_P1_PART_1_CDP_SET_121_Q6]
1 [Option ID = 21]
2 [Option ID = 22]

. 3 [Option ID = 23]
. 4 [Option ID = 24]

A W N -

7) Lev Vygotsky emphasised on the imporiance of and

cognitive development.

(1) cultural tools and punishment

(2) psychological tools and rewards

(3) social interactions and discussions
)

(4) biological maturation and competition

o ATANT=hT F AT =TT il a1 8§ #@T

in the process of

o7 T T

(1) Hi*?m'ﬂh ITFL ST IS

(2) FATASATIE TUHIIT AT [T
(3) ATHTISTS TTEETT¥adT S F=T40
(4) Sta= afrg==a & gfaerar

[Question ID = 7][Question Description = CTET_P1_PART_1_CDP_SET_121_Q7]
1 [Option ID = 25]
2 [Option ID = 26]
3 [Option ID = 27]
4 [Option ID = 28]

A WN =

8) To support meaningful learning, a teacher should take up the role of a
should be given opportunity to become
(1
(2
(3
(4

facilitator, active participant in knowledge construction
director, passive recipient of information

information provider, submissive reciever of knowledge

T o e e

trainer, imitators

and students



AT AT T ABTAT 27 o007, U eArioent = T i et

FET d Fenfdai st F F9av 39 F1e0 |
(1) AT, T TqSAT = Al AR T
(2) &r=era, ST & fewT oAl

(3) STIRIET HHa, I & AAAAT Tgorhe
(4) SR, SFTFTOTHAT

[Question ID = 8][Question Description = CTET_P1_PART_1_CDP_SET_121_Q8]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

9) Which of the following is advocated in progressive education ?

(1) Teacher-centered pedagogy
(2) Self-assessment by learner
(3) Standardised curriculum

(4) Conditioning of behaviour

ST etter forar 7 & & et a9d T 7 € 2

(1) sreaTaE-Fisa foraATaT=
(2) ATERTHFAT T = -Joa T3
(3) ATFIFT TE=FAT

(4) == =T AT

[Question ID = 9][Question Description = CTET_P1_PART_1_CDP_SET_121_Q9]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10) Anita is performing really well in the domain of solving puzzles and problems requiring
reasoning such as cause and effect relationships. As per Howard Gardner’s theory of multiple
intelligence, Anita posses high level of kind of intelligence.

(1) logical-mathematical
(2) musical
(3) bodily-kinesthic

(4) interpersonal



SATAT AT FT9e oFF T FTCOT-TATT Hae T TEAATA g7 ATl Tg (Al e

AATE, AAET F T =9 T A e g |
O EUEEEIGIE

(2) T

(3) et wEsT

(4) sFFaters

[Question ID = 10][Question Description = CTET_P1_PART_1_CDP_SET_121_Q10]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11) Assertion (A) :
A teacher should encourage students to verbalise their thought process and the ideas while

working on a task.
Reason (R) :
Private speech hinders development of higher-order coghitive skills among students.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
3) (A) is true but (R) is false.

4) Both (A) and (R) are false.

e

HTHFIT (A) :
U FLATTAHT 0l AT (HASATIHAT KT e T 1T 9L F1H Fd 99T A9 E=RT 37
FTT(R) :
TRSiT == =T § 3= a <-4 & HATATHT HI19TAl & (960 H§ T9F 218
|
(1) (A) T (R) I &L & A7 (R), (A) T €T =07 F7ar € |
(2) (A) &I (R) I &5 & i (R), (A) FT €T =141 781 § |
(3) (A) 72T g @i (R) T4 ¢ |
(4) (A) AT (R) FTHT TATZ, |
[Question ID = 11][Question Description = CTET_P1_PART_1_CDP_SET_121_Q11]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]

3. 3 [Option ID = 43]
4. 4 [Option ID = 44]




12) Individual differences in learning levels are a result of
1) personal factors related to learners only
2) cultural factors related to environment only

3) complex interaction of personal factors and environmental factors

e, e, e

4) neither personal factors nor environmental factors

FfenTe F0 F =T ATy 3 aog A g g ?

(1) FAeT ATERTHFATAT T HATT ZAHIT FIEHT Al qog o

(2) FATT ATATAT | HATHT AT AF FICFT D0 T T

(3) =TT ST ATATCI 17 i 61 et A faam 61 awig &
(4) 7T E1 =TT AT AT E AT 00T FeT #7 A9y T

[Question ID = 12][Question Description = CTET_P1_PART_1_CDP_SET_121_Q12]
. 1 [Option ID = 45]

1

2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13) A teacher is interested in understanding the learning progress of students on regular basis

without comparison with each other. She should use assessment.
(1) formative
(2

)

) summative

3) discontinuous form of
)

(
(4) norm-referenced

T HAEATRT AT BRI it ATEE S T EET vh-Ee i geT m

AT =9 § a9z Jgdt g | 99 FT TEAHTA FIAT AT |

(1) THATH oAt

(2) TR Hediah

(3) T F HfATaT =

(4) ATTE-HEET o ATHA
[Question ID = 13][Question Description = CTET_P1_PART_1_CDP_SET_121_Q13]
1 [Option ID = 49]
2 [Option ID = 50]

3 [Option ID = 51]
4 [Option ID = 52]

A w N =

14) In order to develop a sense of belonging among all students, a teacher should
(1) give examples that are likely to activate stereotypes.
(2) celebrate festivals of dominant cultures only.
(3) ignore experiences of students belonging to subordinate groups.
(

4) inculcate respect of diversity and individual differences.



Tt Fentat § auas/Aagar it Gt Aw T w7 F o, v seaArtawr wi
FAT FZAT AT Y ?
(1) T8 TIETW 37 AR ST SI2ATT T AT07 F7 |

(2) FFT T AEFAAT & ATgI% gt AT |
(3) TTOT THET ST AT TG T AT AT HATIAT 5 ATHAT T AT Y |
(4) e &l =it e F aifq 7w &= %7

[Question ID = 14][Question Description = CTET_P1_PART_1_CDP_SET_121_Q14]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15) Which of the following does nof help in the development of critical thinking among students ?

(1) Rigidity of thoughts
(2) Metacognition
(3) Self-guestioning and self-testing

(4) Evaluation of proposed solutions

A=t § FATrEA TR Hae % o g e ' T ag T dgi e ?

(1) FE=TT &Y T

(2) T

(3) F-TTATE &IT TH-ATHAA
(4) FATT FHTATAT T HeATH

[Question ID = 15][Question Description = CTET_P1_PART_1_CDP_SET_121_Q15]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16) Inclusive education caters to the needs of :

(i) students with disabilities

(i) students with emotional difficulties

(iii) students who are talented

(iv) studenis from low socic-economic status

1) (i) only
2) (i), (ii) only
3) (i), (ii), (iv) only
4) (i), (ii), (iii) and (iv)

e T e T e SR



TR vy 77 & & et Sovai fit T Fear g ?
(iy TEFeriTET & s et

(i) ATEATHF qroFAT 7 ST Hwmedt

(iii) =T F=mAT S e 2

(iv) o= A=t e &7 & e arer =t

(1) 5= (i)

(2) A (i), (ii)

(3) A (i), (ii), (iv)

(4) (i), (i), (iii), (iv)
[Question ID = 16][Question Description = CTET_P1_PART_1_CDP_SET_121_Q16]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]

3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17) Omitting, substituting and reversing the letters and words while reading the text is directly
associated with

(1) Cerebral Palsy

(2) Dyslexia

(3) Autism

(4) Locomotor disability

ATT-a=g #1 9&d THT FATT AT A5=T FT 2T AT, T AT A7 ITH FT 57

T ZAT (= F T arey =7 F G489 g 2

(1) TR TATHTE
PARELEETZ)

(3) =TT

(4) TEATT FLTHAT

[Question ID = 17][Question Description = CTET_P1_PART_1_CDP_SET_121_Q17]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18) Autism directly and negatively impacts a person’s

(1) social and communication skills
(2) vision
(3) ability to concentrate

(4) physical coordination



AT AT AT THreas =9 7 7w 7 7 & gwrfag s g 2
(1) ATHTIST ST HITT F 190

(2)3=
(3) TEHTIAT HiT AHAT
(4) gmaE AT

[Question ID = 18][Question Description = CTET_P1_PART_1_CDP_SET_121_Q18]
1 [Option ID = 69]
2 [Option ID = 70]
3 [Option ID = 71]
. 4 [Option ID = 72]

A w N =

19) Which of the following is correct in context of students who are gifted ?

(1) They can’t have learning disability.
(2) They lack reversibility of mental processes.
(3) They have very low sense of curiosity.

(4) They display fluency and elaboration in expression.

et R e & & A 2

(1) T2 =T o7 AT srorsFaar 921 af Tt |

(2) TH AT THATAT T IewA0aT i FH g7 2 |
(3) TH TSI=ATAT ST AT Ag A S g |

(4) AT srfir=rt=e & g i fade sata £

[Question ID = 19][Question Description = CTET_P1_PART_1_CDP_SET_121_Q19]
1 [Option ID = 73]

2 [Option ID = 74]

3 [Option ID = 75]
4 [Option ID = 76]

A W N -

20) Which of the following practice will be helpful in successful inclusion of students with hearing
impairment ?
(1) Showing movies and videos without subtitles
(2) Using verbal mode as dominant mode of assessment
(3) Supplementing oral form of communication with visual form of communication
)

(4) Preferring lecture method mostly for presenting information



A ATTEAT T S[AG F=al & % "gaEay § 9 § 7 -t 53w
qETIF AT ?
(1) FAt=r= & e =1 f@=7 suefnd=i & R
(2) HITF =9 F1 odTF4 & T =9 F TEAHT FHer]
() FTOT F FIEF =T T 9T T H TIT F7AT
(4) ST T F7a F Term fershae sareAr f3fer =1 g2 e
[Question ID = 20][Question Description = CTET_P1_PART_1_CDP_SET_121_Q20]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]

3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21) Children learn from to

(1) abstract, concrete
(2) symbolic, pictorial
(3) specific, general

(4) simple, complex
L il £ dre wfraT 2 |
(1) 30, T
(2) T, ST

(3) A=, AT
(4) @7, Sfee

[Question ID = 21][Question Description = CTET_P1_PART_1_CDP_SET_121_Q21]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22) Which of the following learning strategy is not likely to be effective for processing information ?

(1) Underlining and highlighting
(2) Using mnemanics
(3) Creating examples

(4) Passive recitation

= 5 & -5 ATERTH 6 FIARET 6 TR0 § TAAATAT AgTamil ?
(1) s A7 SegitFd 247

(2) =T -Trgra= ARt = 9=7n

(3) ST ST FHTAT

(4) AfeHT sraT=T Fw




[Question ID = 22][Question Description = CTET_P1_PART_1_CDP_SET_121_Q22]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) Assertion (A) :
While teaching a concept, teacher should discuss examplars as well as non-examplars.
Reason (R) :
Non-examplars confuse students and are irrelevant in teaching any concept.
Choose the correct option :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R} is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.

ST (A) :

st et SR |

FITT(R) :

fregaTaT et w9 w3 S die B v @ uee % R
AITHF 2 2 |

et fameT 79 -

(1) (A) 9T (R) Zreit 7181 2 302 (R), (A) ¥ 77 == F7ar 2 |
(2) (A) 9 (R) Zreit 7181 & 36 (R), (A) Fr &t s 7t 2
(3) (A) 7ET & T (R) Trer € |

(4) (A) 37 (R) TRT I £ |

[Question ID = 2;’:][Question Description = CTET_P1_PART_1_CDP_SET_121_Q23]

1. 1 [Option ID = 89

2. 2 [Option ID = 90]

3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24) Radhika motivates her students to represent, understand, evaluate and reflect a situation in
multiple ways. By doing so she is facilitating the development of thinking among her
students.

(1) divergent

(2) convergent

(3) overtly conditioned
(4) illogical



TferT dow ARty o B ofifeats =1 BEg =7 T geqa w9, 9959719,
oA e Y Fidfeted el o @0 Aedtigd Fdl g | UAT Feeh ag AT

Frenfit & B ¥ e Fv qefdT #7 2
(1) sTHTY

(2) afard

(3) AR =T | ATEferd

I EGIEED

[Question ID = 24][Question Description = CTET_P1_PART_1_CDP_SET_121_Q24]
1. 1 [Option ID = 93]
2. 2 [Option ID = 94]
3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25) In order to develop advanced problem-solving skills among her learners, a teacher should
motivate students to use

(1
(2
(3
(4

response set
hit and trial method
analogical thinking

L e s L

rote memorisation

o A=t § A A0 THE-AHEE 9@l 6 EHEE g UE A5
T I T TEAHTA g ATedTigd HedAT AT |

(1) rgra Fg==T

(2) wre-Afe fAfer

(3) F=TF o

(4) Fzefiwem

[Question ID = 25][Question Description = CTET_P1_PART_1_CDP_SET_121_Q25]
1. 1 [Option ID = 97]

2. 2 [Option ID = 98]

3. 3 [Option ID = 99]

4. 4 [Option ID = 100]

26) The ability to monitor, reflect and accordingly modify one’s own thinking process is referred to
as :

(1) memorisation

3

)
(2) forgetting
(3) selective attention
(4) metacognition



FTA AT GHAT F Fgl ST 2 |

(1) Fawf T

(2) AT

(3) FTATHT &1

(4) T
[Question ID = 26][Question Description = CTET_P1_PART_1_CDP_SET_121_Q26]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]

3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27) Information processing skills such as recall are

(1) not related to emotional state of individuals.
(2) significantly influenced by emotions.
(3) positively impacted by negative emotions such as high anxiety.

(4) negatively impacted by positive emotions such as curiosity.

ST THH 190 Sier T2 ergerem

(1) =it T graaTe T Rty ¥ g=aEa 721 2 |

(2) ATAATSAT H AgTAIN BT H AAAT 21 2 |

(3) FRTITERT |wrET S B g= w0 =Ar § g = 7  9iad 2 g |
(4) FETITE AT ST R TS & TR W 7 ATEd g |

[Question ID = 27][Question Description = CTET_P1_PART_1_CDP_SET_121_Q27]
1. 1 [Option ID = 105]
2. 2 [Option ID = 106]
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28) Learning to is an example of extrinsic motivation.

(1) satisfy curiosity to know
(2) understand the concept

(3) become popular among friends

(4) clarify the doubts
= o e grEr afwsem w1 sEEEm R |

(1) ST ¥ ST %01 I
(2) 9T & THAA

(3) ATEAT o AT ATHATAT T
(4) 2T T L




[Question ID = 28][Question Description = CTET_P1_PART_1_CDP_SET_121_Q28]
1 [Option ID = 109]
2 [Option ID = 110]
3 [Option ID = 111]
4 [Option ID = 112]

A W N -

29) Learning is most effective and meaningful if
(1) content is related to students’ social context.
(2) pedagogy is dominantly teacher-centric.

(3) learning goals are performance-criented
(4) students are not given opportunities to construct knowledge.

FTERTT FaH ATaT TATAATHAT ST A0 AT 2 FT
(1) FErag—ar=g FE=nfaat & arafsres aftqer T d&faT g
(2) forerrarTes =T AeATOH-Himd af |

(3) ATERTH =T TRUH-ATIHET 27 |

(4) =TT =7 5T | % Eae A7 =Fw et

[Question ID = 29][Question Description = CTET_P1_PART_1_CDP_SET_121_Q29]
1 [Option ID = 113]
2 [Option ID = 114]
3 [Option ID = 115]
. 4 [Option ID = 116]

A wWN =

30) Which of the following factor facilitates learning ?

(1) Incremental view of ability
(2) Distractions in surroundings
(3) Unfamiliarity with language
(4) Neurological deficits

7+ § | F9-H7 F1eH ATERTH 7 AT FLar g ?

(1) FTTAT T ATMES 7T

(2) - F e

(3) ATHT F FATHFAT

(4) ATt =T
[Question ID = 30][Question Description = CTET_P1_PART_1_CDP_SET_121_Q30]
1 [Option ID = 117]
2 [Option ID = 118]

. 3 [Option ID = 119]
4 [Option ID = 120]

A W N -

Topic:- MATH_Q31-45_P1_CTET



1) Which of the follewing is at third place when the following humbers are arranged in ascending
order ?
8-08, 8-80, 8-808, 8-008, 0-88
(1)8-08
(2)8-808
(3)8-80
(4)8-008

Tl § =T a0 fAeAtaiad § 5 FE-H7 S647 TH0g #4979 9% g0
?
8-08, 8-80, 8-808, 8008, 0-88

(1)8:08
(2)8-808
(3)8:80

(4)8-008

[Question ID = 31][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q31]

1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

2) Thevalue of (16-5x3-35+5-3x135)is
(mz2
(2)12
(3)-2-5
(4)-125

(16:5%3-35+5-3%13'5) T A &

()2
(2) 12
(3)-2:5
(4)-12'5

[Question ID = 32][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q32]

1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]



3) 2,8,
Tk IS equal to

(1) 8
5

(2j22
20

3
(3)15

@)+

[Question ID = 33][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q33]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

4) The difference between the place value of 5 in 259031 and the face value of 3 in 37089 is :
(1)4997
(2) 49997
(3)47000
(4) 499997

259031 | 5 % TATH T AW 947 37089 | 3 F &fFd A= § #a7 ¢ :

(1) 4997
(2) 49997
(3) 47000
(4) 499997

[Question ID = 34][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q34]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]



5) One-fifth of the trees in a garden are mango trees. Half of the trees are Ashoka trees and the
remaining are neem trees. If the number of neem trees is twelve, how many mango trees are

there in the garden ?
(18

(2)10

(3)6

(4)20

T AT, AT 5 e i wvear aeft gei Y A A L 6§ | S e e
2 &rT o 7 % qer ¢ | afs A F gt v 9y areg g, a1 anr F & F ha
q 2 ?

(1)8

(2) 10

(3)6

(4) 20

[Question ID = 35][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q35]

1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

6) Three brands of pens A, B and C are available in packets of 5, 6 and 12, respectively. If a
shopkeeper wants to buy equal number of pens of each brand, what is the minimum number of

packets of each brand, he should buy 7
(MA=12,B=10,C=5
(2)A=10,B=5,C=12
(3)A=10,B=12,C=5
(4)A=5,B=12,C=10

d Fig A, B @47 C ¥ U9 %HT: 5, 6 AT 12 * Y2 § IUaed g | I UH
THMAEIE &l A1 T & 09 OH1F AT § G40ad g, 91 39 5191 @0 S a7
TERET T FATH HET0 47 2RI 2

(DA=12,B=10,C=5

(2)A= 10, B=5,C=12

(3)A=10,B=12,C=5

@A=5B=12,C=10

[Question ID = 36][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q36]

2. 2 [option 0 - 142

3. 3 [Option ID = 143]
4. 4 [Option ID = 144]



7) The number of minutes in 20 days is equal to the number of seconds in

(1) 5 hours
(2) 6 hours
(3) 7 hours
(4) 8 hours

20 f=+1 & foeet & g, Mg § 7 s aaei ST der s awEe g ?

(1) 5 ==
(2)6 5=
(3)7 F=
(4) 8 ==

[Question ID = 37][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q37]

1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8) A shopkeeper mixed 5-1 kg of almonds, 1800 g of raisin, 2-6 kg of cashewnuts and packed the
mixture equally into four dozen packets. What is the weight (in g) of each packet ?

(1) 200
(2) 225
(3) 250
(4) 150

T FHEAEE 7 5-1 kg TR, 1900 g FHerfaer, 2-6 kg Fsiar &r fHar f&ar 91
= e F qEEE-avaT A7 IS GAe 947 (20 | Terw The 71 91 (g H) F
I ?

(1) 200
(2) 225
(3) 250
(4) 150

[Question ID = 38][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q38]

1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]



9) A bucket of 16 litres capacity is filled to the brim with milk. Milk from this bucket is to be
transferred into smaller vessels. A mug filled to capacity has to be dipped 40 times to
completely transfer the milk from the bucket into the vessels. What is the capacity of the mug ?

(1) 320 mL
(2) 400 mL
(3)40 mL
(4) 4000 mL

-

16 e< aTiear aTel UF aredt 07 &9 7 39 § 99 g2 ¢ | qeel & o 36 Al
AR A e B 1 A i e e - e 2 B e - e O |
TOTHAT AT Gle-Gie TAAt § AT ChaT STar g | 5797 7 anfear = g 2

(1) 320 mL
(2) 400 mL
(3) 40 mL
(4) 4000 mL

[Question ID = 39][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q39]

1. 1 [Option ID = 153]

2. 2 [Option ID = 154]

3. 3 [Option ID = 155]

4. 4 [Option ID = 156]

10) A 120 cm long wire is bent to form an equilateral triangle. What is the length of the side of this

eguilateral triangle ?

(1)30cm
(2)40cm
(3)153cm
(4)20em

T 120 cm @FEET 1L AT HIEHT TF HHATE BS w1 w9 4w a=Gw | q9ag
Prae 1 g i qEare F=r 2

(1) 30 cm

(2)40 cm

(3) 1S cm

(4) 20 cm

[Question ID = 40][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q40]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]



11) Which one of the following statements is true ?

(1) All squares are rectangles
(2) All parallelograms are squares
(3) All rectangles are squares

(4) All rhombuses are squares

T+ § & F17-97 %49 74 g ?

(1) =refT = e g

(2) =T T TGS A E
(3)THAT AFF AT E

(4) =T TG AW

[Question ID = 41][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q41]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12) Number of degrees in three and one-third right angles is
(1) 300
(2) 330
(3) 360
(4)270

i @i mE-ETE aawwn § BRIt A aEn g
(1) 300
(2) 330
(3) 360
(4) 270

[Question ID = 42][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q42]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13) Identify the missing entry in the following pattern :
2,4,12,48,240,
(1) 960
(2) 1200
3) 1440
)

(
(4) 1480



foreet et & oo TR v v AR
2.4, 12,48, 240,

(1) 960
(2) 1200
(3) 1440
(4) 1480

[Question ID = 43][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q43]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

14) Weekly earnings (in ) of 18 workers are given below :
3720, 2740, 3640, 3380, 3735, 2935, 3630, 3790, 3710, 3270, 3650, 3840, 3475, 3840, 3850,

3580, 3950, 3520

Weekly earnings of how many workers is between % 3500 and ¥ 3750 ?
(1)6

27

(3)8

(4)9

18 sf¥at T AT HTs (I H) A9 37 7% &

3720, 2740, 3640, 3380, 3735, 2935, 3630, 3790, 3710, 3270, 36350,

3840, 3475, 3840, 3850, 3580, 3950, 3520
e affet &t ATt ® F97e < 3500 #3750 F AT HE 2

(1)6
()7
(3)8
49

[Question ID = 44][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q44]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]
3. 3 [Option ID = 175]
4. 4 [Option ID = 176]



15) On a particular day, the sales (in 2) of different items of a baker’s shop are given below :

ltem Sales (in %)
Biscuits 1800
Cakes and Pastries 8000
Bread 2600
Dhokla 800

Which of the following is notcorrect ?

(1) The sales of Dhokla is one-half of the sales of Biscuits.
(2) The sales of Bread is 2100 less than the total sales of Biscuits and Dhokla.
(3) The sales of Cakes and Pastries is 5400 more than that of Bread.

(4) Total sales of Biscuits and Bread is half of the sales of Cakes and Pastries.

T R R A et A pm i E A ga i md @A) = S

.

.

cEl I (R )
(e 1800

5 AT T l8000

e 2600
ST 1900
. .

(1) B it o Forepe 1 o A e 24

(2) i Ft FrofY, R die S T T BRI A 100 7
(3) 3 o S Y TR, e Y AT 25400 A 3

(8) Frege e e A 79 B, Fr de e R AR e 2|

[Question ID = 45][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q45]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

Topic:- MATH_Q46-60_P1_CTET

1) While counting the number of objects in a given collection of objects, a child counts an object

twice. Which of the following pre-number concepts needs to strengthened in the given context
?

(1) Classification

(2) One-to-one correspondence
(3) Hierarchichal Inclusion

(4) Subitisation



2 oo et F wHg | & At v e A FET a9T 0 =11 0F A5 AT
I frar g | Feataiag § |7 F9-91 S67 $7 [@-d9a9WT #1 &0 70 939 §
T3 FOA FT ATTFATE ?

(1) FRfT=FTT

(2) T FHTA

(3) TRTAH AT THTH AT

(4) GT=ETZ 9 (subitisation)
[Question ID = 46][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q46]

. 1 [Option ID = 181]

. 2 [Option ID = 182]

1
2
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

2) According to National Curriculum Framework, 2005, enhancing mathematical communication
means

(1
(2
(3
(4

To make children promptly answer the guestions
To encourage debate in the classroom

Toorganize, consolidate and express mathematical thinking

T e St St

To include a lot of stories, poems and drama in a mathematics classroom

TTCET OT5= AT 4T, 2005 F SHTE T J990r £ FE19 (S+AT) 7 J7

A

(1) FT==T FT FeTAT & A1 TIA7 F7 3L 27 AT FHT9T

(2) Fe&m | Are-fAars F Tor Trearigd FTAr

(3) TTioTeTy A 7 Teaatege, Fufed T47 A== FIAT

(4) TTTOT 7 AT H AgA-S1 TR, HAAT A7 T T AT FAT

[Question ID = 47][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q47]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

3) Which of the following represents an effective method to rectify the errors made by students in

the operations such as
1 2

L

(1) Using concrete fraction models to depict the above situation
(2) Teaching students how to find the LCM

(3) Giving similar problems for practice

(

4) By giving tests



AeAforiaa 7 7 F=-ar vF y9ET vgia w5 St w7 g o Faida e
AT TE AT F TH qTE T ATCAT I FATL ST

1 1 2
—+—:-—'7
4 4 8¢t

(1) Tt afcegfa =1 3orw & o e % 77 wfoe=g (Fiee) 71 3990 59
(2) A=t &1 g FamT & aaq /9rIE (LCM) %9 319 #9d 2
(3) serT = for 2o T A gy S T
(4) = T
[Question ID = 48][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q48]
. 1 [Option ID = 189]
. 2 [Option ID = 190]

1
2
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

4) Which of the following is least likely to enhance the mathematics anxiety among learners ?

(1) Annual examination
(2) Predominance of symbiotic language in mathematics
(3) Cumulative nature of mathematics

(4) Formative assessments

fEenfiat o wivre & a7 & 9gm F T et o T G a9 a9
FHE?

OELEERE
(2) TTTOTT H Tt T ATOT 7 TG
(3) wrfore it F=dt i
(4) THATHF AFHAT
[Question ID = 49][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q49]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

5) Which one of the following is inappropriate statement for aims and objectives in mathematics ?

(1) Aims are formal while objectives are functional and informative.
(2) Aims are common to mare than one subject while objectives are specific to each subject.
(3) Aims are short term goals while objective are long term goals.

(4) Aims are broader while objectives are a part of aims.



o & weT UF el F o Meteriea § 7 wira-ar T 749 2 2

(1) T ATATI & T4 297 FHHF U5 TIAILE |
(2) oo v T Aferw Auar F Arg URgE g 99 im 92 Yeaw fauy & o
Afore= 2 |
(3) T HTTFTICIF ¢ STa 1 9T MHBIAF 2 |
(4) & TAeT 2 AT+ I29F 5T FT TF 9 ¢ |
[Question ID = 50][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q50]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]

3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

6) Which among the following is not a desirable purpose of classroom assessment at primary
level ?
(1) To provide feedback to the learners.
(2
(3

(4) To motivate students for active participation in the classroom activities.

To compare learners performance with each other.

To improve the teaching-learning activities.

)
)
)
)

AT FAT T FATHT Arhers 1, et § | F247 UF FieT 3297 dgl e ?

(1) fererttet =1 IfAq® 929 F7AT |

(2) fereaTta=T F W= T TATT UH-Z9L T FieAT |

(3) foreror-steT eramerTdl § qare FT |

(4) Fart TFaTaTdt § "iFT ®7 7 907 o= % oo Gt w7 e

EBGIN

[Question ID = 51][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q51]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]
3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

7) Which of the following terms in mathematics are undefined ?
(a) MNatural Numbers
(b) Diagonals of a quadrilateral
(c) Line
(d) Point
Choose the correct answer.
1) (a), (b) and (d)
2) (a), (b) and (c)
3) (b) and (c)
)

(
(
(
(4) (a), (c) and (d)



fAeferiaa 5 & v 1 Fra-A7 ersaterat g g ?
(a) STFF FETE
(b) T FGLS F A
(c) @
(d) fr3
Hel I FT FTF AT |
(1) (a), (b) 3= (d)
(2) (a), (b) 3= (c)
(3) (b) & (c)
(4) (a), (c) &= (d)
[Question ID = 52][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q52]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]

3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

8) Which of the following represent the fundamental principles that will guide education system
according to National Education Policy 2020 ?
(a) Promoting each student's holistic development in both academic and non-
academic spheres
(b) Focusing on multidisciplinary and holistic education
(c) Extensive use of technology enly for Divyang students
(d) Promoting creativity and critical thinking to encourage innovation
Choose the correct option :

(1)(a)and (c)
(2) (a), (b) and (d)
(3) Only (c

(

4)(b) and (c )



e farer iy 2020 F g F=ffET § T $- qifos feeEt w
Ao AT g ST B forer womeft () 1 anEdE w2

(a) 9o &iiv fe-drfers T &= § weusw =T & g A =

(b) FgfET== T 78y forar 97 T =TT

(c) FAe =iy Frentaay % for SRt F7 =TT ST

(d) ¥ET=ETE =7 J2MET 39 F o0 goeq® AT drer=aaqreq+® =aq =

gl faFeT #1777 FfSu

(1) (a) & (c)

(2) (a). (b) & (d)

(3) 74 (c)

(4) (b) ¥ (c)
[Question ID = 53][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q53]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]

3. 3 [Option ID = 211]
4. 4 [Option ID = 212]

9) Which of the following is the most appropriate objective of introducing non-standard units of
measurement in primary classes ?

(1) To know how many non-standard units of measurement are there in all
(2) To teach the concept of conversion of units of measurement from one system to another

)
)
(3) To understand the need of standard units
(4) To understand the advantage of using non-standard units over standard units

femforteard | & -7 ST FA0A 5§ AT AT AT THIEAT 1 To5qT Fed
FT TATTAT TULHT S29T g ?

(1) =g StreaT T3 79 it o Frasy a9+ At g
(2) |TIT FT THTSAT HT TH TUMAT H THL FOTAT H FATAL07 T ATHTIOT T
foreqm

(3) HTAE THISTT Al ATHITFAT FHT THAAT

(4) T THISAT il AT AHTAH SHISAT D1 STANT HTA FHT ATH THAAT
[Question ID = 54][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q54]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]

3. 3 [Option ID = 215]
4. 4 [Option ID = 216]




10) While introducing the concept of circle to children at primary level, what should be the last step
in the teaching-learning process ?

(1) Give the definition of a circle
(2

)

) Draw a circle on the blackboard

3) Show circular objects to the children
)

(
(4) Let children identify circular objects from their surroundings

T FC T T=41 00 I 60 Aheqa T Teqd Fed a0, foreqor-giemmy giHar §
HEE HTAH =F207 HIF-A7 AT AT ?

(1) = ¥ T 34T

(2) TTHIZ T T T A

(3) =41 T ATHTE Feq0 =T

(4) T==1 T AT ATH-ITH il TATHIT TECAT HT TgATA <77

[Question ID = 55][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q55]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]

11) For which of the following concepts the use of Tangrams as Teaching-learning Material (TLM)
is least effective ?

(1
(2
(3
(4

Spatial reasoning
Number sense

Visualization

P W R s

Shapes and space

Fretorfes & & agmor F ©0 &g &1 3990 fors-afammy o
(TLM) F =7 | 99 FF TIGH1 g ?

OAEEiRIGEECINEEED]
(2) FweaT |
(3) Z9t=HTIT
(4) srEfaat & R

[Question ID = 56][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q56]
1 [Option ID = 221]
2 [Option ID = 222]
3 [Option ID = 223]
4 [Option ID = 224]

A W N =



1

12) Which of the following is true about intuitive knowledge in mathematics ?

(1) Immediacy and self-evidence kind of cognition don'’t play any role in intuitive knowledge
(2) It is always based on sound, rigorous and logical arguments
(3) It is a kind of knowledge which is generally not based on scientific empirical evidence

(4) As mathematics is “exact” in nature so there is no role of intuitive knowledge in
mathematics

freaforfad § & F19-a7 Tivm § sa=eff 519 & 999 § 951 g 2

(1) Sra=sfT T o TeEFTieTsaT AT FF-H18T S |39, Fre [T Ag) 09T &
(2) 7 F=A T=AT, T AT AT TATl TF AT giaT &

(3)Fg TF UAT FH g S ATITEO: AT ATATE TN TF AT Aol
(4) T T T F FEF g gHEien TioE 7 siq=efi 7 A w67 giEewT

[Question ID = 57][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q57]
. 1 [Option ID = 225]

2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

13) Partitioning, understanding units, conservation and tessellation etc are foundational concepts
underlying the learning of which mathematical concept ?
(1
(2
(3
(4

Measurement of length
Measurement of area of two-dimensional shapes

Measurement of volume

e =

Data handling

AT FFAEONT 5o 6 Frarsid, garedt &1 qU, |99, ZEdl @ 9Ed
(EEHTarer), TEATs Ao 1 e AFaTs F ATATH FT ATGT g 2

(1) T=ITE T 199

AN HERIEIC IR ER AR IR E]
(3) AT =T AT
(4) SATET FT T

[Question ID = 58][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q58]

1
2
3.
4

. 1 [Option ID = 229]
. 2 [Option ID = 230]
3 [Option ID = 231]
. 4 [Option ID = 232]



14) According to National Curriculum Framework, 2005 which of the following is least appropriate
to be an aim of teaching mathematics ?

(1) To learn the tricks and techniques for quick calculation

)
(2) To develop the skills of problem-solving
3) To develop critical thinking and reasoning skills
)

(
(4) To develop effective mathematical communication skills

TTET ITET=AT =9ET, 2005 F F9E Fetoriad § F F-97 T07T A4709
o YA F BT H T HH ITLFA B ?
(1) F=AT & AT FA F O AT AT T A ET
(2) FTHEAT-THTATT & HI9TA1 A1 (AR T FHLAT
(3) AT AT = & o (A=) F 1 F1 SFad FedT
(4) STt AT | 3 Awreredt i FEweT wmer
[Question ID = 59][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q59]
2. 2 Opton D - 234

3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

15) Which of the following in the best explanation for inclusion of word problems in primary class
mathematics textbooks ?

(1) Word problems are hard to solve than symbolic problems and hence enhance children’s
thinking skills.

(2) Word problems help learners connect to the real life situations involving mathematical
thinking.

(3) Word problems are for high I1Q level learners and therefore they should be included.

(4) Word problems lay foundation for the higher order problem solving skills for
mathematicians.

TR HAT 0 Ao T TEATEAHT HOTATCAT FATAT AT A FLA BT

A § 0 FF-97 95 T g ?

(1) FeATRTeHh FTEEITEr il T § 1At FATA HT A Bl o7 gial g a4
g T=A1  [=Had frT § g FLAr g |

(2) TATAT FATA ABREFATA Wl 37 ATEASF Sraq ot et T sed
HETAAT F7d g orad T =a aiEafad g |

(3) TATAT FATA =7 Al ATed TA7 AT ATERTHFHATHA (7 20 &, oF: T
grrterer fomam ST =R |

(4) erfes= wmeaTd wfoEsT F T S=E-wEiT AHeAT A9TaTa Riere| wr
IS AT 2

[Question ID = 60][Question Description = CTET_P1_PART_2_MATHS_SET_121_Q60]



1 [Option ID = 237]
2 [Option ID = 238]
. 3 [Option ID = 239]
. 4 [Option ID = 240]

A W N -

Topic:- EVS_Q61-75_P1_CTET

1) You are travelling from Delhi to Thiruvananthapuram by train. Which is the correct sequence of
major railway stations you will come across after Delhi ?

(1) Gwalior, Bhopal, Nagpur, Vijayawada, Chennai, Thiruvananthapuram

(2) Gwalior, Nagpur, Vijayawada, Bhopal, Chennai, Thiruvananthapuram

(3) Bhopal, Gwalior, Nagpur, Chennai, Vijayawada, Thiruvananthapuram

(4) Bhopal, Nagpur, Gwalior, Vijayawada, Chennai, Thiruvananthapuram

g Redt § faeanaaq Yo 210 A0 2 78 ¢ | fEedl & @12 924 A1 4
T TEHAL HT el #F FT1 g ?

(1) F=Tfer, |rorer, ARy, FEemarer, e, fAeaday
(2) F=TierTe, AR, FASATET, WiTe, Fee, A ATy

(8) AT, HATHe, AWYE, A%, Awaarer, AeEaad

o

(4) FraTe, AT, |, s, Fws, feana

[Question ID = 61][Question Description = CTET_P1_PART_3_EVS_SET_121_Q61]
1 [Option ID = 241]
2 [Option ID = 242]
. 3 [Option ID = 243]
. 4 [Option ID = 244]

A W N -

2) Imagine that you are in your school along with other students and an earthquake starts. Which
safety measure will you follow during earthquake ?
(1) First rush out of the building
(2
3

(
(4) Go near the windows

Hold earthquake drill for all students

)
)
) Take cover under a desk or table

)

el Hitor 3 T s ety F Ay GRrem § § &7 s=mE e o
STAT & | R R S AT PR qEET ST AT 9T F 2

(1) =T TZAT F3H, AT TG % AT 31 S0
(2) =T Ta=m et 1 s St f$er (7T Feamur
(3) TFF AT A F A= 45 AT
(4) FrsfraT =TT =o Jroa
[Question ID = 62][Question Description = CTET_P1_PART_3_EVS_SET_121_Q62]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]

3. 3 [Option ID = 247]
4. 4 [Option ID = 248]



3) Which of the following art forms involves dyeing of clothes and making designhs on clothes
using natural colours like cow dung, indigo, turmeric etc. ?

(1) Madhubani

(2) Warli

(3) Kalamkari

(4) Phulkari

FeAforfaT & 7 &9 507 =7 F J951 il 05 AT THAH W1 59 A6, T,
el ATTS & HILAH | FH SA147 18T g 2

(1) T
(2) F7AT
(3) FeATFT

(4) T

[Question ID = 63][Question Description = CTET_P1_PART_3_EVS_SET_121_Q63]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4) Which of the following is the main food of the people of the State to which Neeraj Chopra
belongs ?
(1) Idli, Chutney, Rice, Sambar
(2) Rati, Dal, Rajma, Aaloo Paratha

(3) Roti, Sambar, Bamboo Curry, Fish curry

(4) Tapioca, Rice, Fish curry

o oo 5 H{17S FOST HATAT 2, 7 WA o AN K7 T Ao F4T ?

(1) =AY, FeAl, FET, F9iE7

(2) TTET, ZTeT, TISTHT, AT TTST

(3) TAET, FiET, Ao AT THITT TS, TGAT Fll (AT2AT)
(4) ZETTr=T (FETET), T, TGAT BT (ATAT)

[Question ID = 64][Question Description = CTET_P1_PART_3_EVS_SET_121_Q64]
1 [Option ID = 253]
2 [Option ID = 254]
3 [Option ID = 255]
4 [Option ID = 256]

A wN =



5) Himani uses empty water bottles to store water, oil, paints etc. She also plants beautiful plants
in used bottles to decorate walls of her classroom. She is practising
(1) Recycling
(2) Reducing
3) Reusing
)

(
(4) Upcycling

TRHTHT 7T T =TT Areaert | 9T, T, UF AR TGS FAT g | A TR
X T2 AT T HIT Y TATHT FAT T AT FTAAAT S | TG T FL LR 2

(1) g-=wm

(2) TIHII (FH FI)
(3) I TATT H @17
(4) T=7T

[Question ID = 65][Question Description = CTET_P1_PART_3_EVS_SET_121_Q65]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

6) Which of the following group of plants are propagated by vegetative plant parts ?

(1) Rice, Wheat, Oats

(2) Sugarcane, Potato, Cabbage
(3) Potato, Rose, Sugarcane

(4) Wheat, Sugarcane, Rice

Teaferfera § & drel 1 F19-97 J9g Araedias 9T & 97 g0 ST g ?

(1) 8T, g, §7€ (42)
(2) I, AT, TTIHT

(3) AT, T, AT
(4) g, AT, ATAT

[Question ID = 66][Question Description = CTET_P1_PART_3_EVS_SET_121_Q66]
1 [Option ID = 261]
2 [Option ID = 262]
3 [Option ID = 263]
. 4 [Option ID = 264]

A w N =

7) Select a group of food items which are obtained from the same part of the plant.

(1) Apple, Potato, Tomato, Sugarcane
(2) Spinach, Ginger, Sugarcane, Carrot
(3) Sugarcane, Potato, Ginger, Lotus stem

(4) Spinach, Cabbage, Jeera and potato



TN TRTAL %S9 THg T T H100 (orrg, Tl % T gl A7 F A0 (6207 S0av g
|

(1) &4, &A1, ZHTET, TT

(2) gTeteh, =L, T, AT 7

(3) ITHT, AT, AZTF, FHA €54
(4) 9T, TN, ST &7 ey

[Question ID = 67][Question Description = CTET_P1_PART_3_EVS_SET_121_Q67]
1. 1 [Option ID = 265]
2. 2 [Option ID = 266]
3. 3 [Option ID = 267]
4. 4 [Option ID = 268]

8) Als parent to B and B is the father of C. D is the wife of B, What is the relationship between A
andD ?

(1) D is daughter-in-law of A
(2) D is parent-in-law of A

(3) D is mother of A
(4) D is daughter of A

A, B ¥ #faaras (Arar-man) 2 i B, CHFMar2 1 D, BFr a=r 2 1 A#T D
FdF FTHIT F ?

(1)D, AT T
(2)D, A F ATE/ATT 2
(3)D, AFTAT T
(4)D,AFTIAE

[Question ID = 68][Question Description = CTET_P1_PART_3_EVS_SET_121_Q68]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

9) Which of the following is most likely to be dispersed by animals ?
(1) Sunflower
(2) Aak (Madar)
(3) Mango
(4) Coconut



Aeaferfaa § O Fmsr Fora (Rae) afgsmiad: g9# g7 2ET g ?
(1) TEerget

(2) =%
(3) a7
(4) rfvarer

[Question ID = 69][Question Description = CTET_P1_PART_3_EVS_SET_121_Q69]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

10) Identify a set of birds which are similar to each other based on their food habits.
(1) Peacock, Parrot, Pigeon
(2) Parrot, Crow, Owl
(3) Owl, Eagle, Kite
(4) Woodpecker, Vulture, Koel

=TT F o9 g9g i g9 F0 S AUAT GieT Gayl AEAT F AT W
TFH-FHL T FHAT T 3 |

(1) T2, TTET, FgT

(2) T, FAAT, Ioeq

(3) g, AT, HrT

(4) Fawrear, fg, I

[Question ID = 70][Question Description = CTET_P1_PART_3_EVS_SET_121_Q70]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

11) Neena, a primary teacher, discusses various harvest festivals celebrated in different regions in
EVS class with her students. Select the set of harvest festivals she mentioned.

(1) Bihu, Baisakhi, Makar Sakranti, Lohri
(2) Ganesh Chaturthi, Hali, Karwa Chauth
(3)
(4) Gudi Padwa, Navratra, Gurpurab

Pongal, Diwali, Eid



STt Ther 1 eAriasT AT arae ET Ay TAraor s i FAT F
FAfe= & & 7970 S0 AT Tl 6 Fele o Aaied ATgrl 97 q41 el g |
3T BT Sfeartea Fael fit Fers T HafaT =gl F 79 F TG ST |

(1) &g, 3=, o< "aied, dget
(2) Frover FAAT, AT, FLAT AT

(3) T, #ATe, €3

(4) =T TEAT, AT, [

[Question ID = 71][Question Description = CTET_P1_PART_3_EVS_SET_121_Q71]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

12) You want to visit hill stations located in the Western Ghats. Which set will you select ?

(1) Bengaluru, Gandhinagar, Goa

(2) Mumbai, Ooty, Pune

(3) Visakhapatnam, Bhubaneshwar, Puri
(4) Mahabaleshwar, Munnar, Ooty

AT T e & T FqA] F FHO T FOA7 Agd g | @ Tt & e 79
T FAF FAL ?

(1) F¥Tege, T, raET

(2) o<, T, o

(3) EUTETIATH, AAIAT, T

(4) HETE@LAT, o1, Fel

[Question ID = 72][Question Description = CTET_P1_PART_3_EVS_SET_121_Q72]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

13) Which of the following pairs is correct 7

(1) Rose : Tree

(2) Bittergourd (Karela) : Creeper
(3)Rose : Herb

(4) Bittergourd (Karela) : Shrub



Rreforare & & - et (7o) 7 2

(1) Tommsr - e
(2) FAT : FA (T4T)

(3) T : FE-FET

(4) FeAT : ATST
[Question ID = 73][Question Description = CTET_P1_PART_3_EVS_SET_121_Q73]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]

3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14) Which of the following animal is closest relative of Cow, Buffalo and Sheep ?

(1) Human Being

(2) Dog
(3)Cat
(4) Goat

fAeaferfera § 9 F9-97 S T, §9 7 G 7 997 Fwedq q98l g ?

(1) 7T

(2) T

(3) fareeft

(4) FFT
[Question ID = 74][Question Description = CTET_P1_PART_3_EVS_SET_121_Q74]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]

3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

15) Which of the following is not a feature of Siberian Cranes 7

(1) They migrate from cold climatic conditions.

(2) They breed in warm places.

(3) They live isclated in their habitat.

(4) They are critically endangered and very few in number.

et § & Fie-H7 f=eraar At ared i agic ?

(1) 7 oftT STeraTg 7 Ta79 F7d 8 |

(2) T 7| T 9T TSTAT F7 g |

(3) 7 ST ATATHT H HAAT H A=A T2 3 |

(4) T IAHTT =0 7 Fa< H 2 AT Il Agd FH AT ZI2 |

[Question ID = 75][Question Description = CTET_P1_PART_3_EVS_SET_121_Q75]
1. 1 [Option ID = 297]




2. 2 [Option ID = 298]
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

Topic:- EVS_Q76-90_P1_CTET

1) Which of the following technique is used in rating scale ?
(1) Observation
(2) Checklist
(3) Written Question
(4) Assignments

feaforfaa et 3§ | 2T o6 8 F19-1 a9t 57 S9I0T grar g ?
(1) T

(2) Sit= =T

(3) Ferfare weer

(4) Tora =
[Question ID = 76][Question Description = CTET_P1_PART_3_EVS_SET_121_Q76]
. 1 [Option ID = 301]

. 2 [Option ID = 302]

1
2

3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

2) ldentify the most effective strategy to engage students in teaching-learning process of EVS.

(1) Reading of textbook

(2) Lecture by teacher

(3) Demonstration by teacher
(4) Narratives

THTATTT ALAAA H q=Al A0 NA-ATEH T SEq i qEE T9Eener gn
TEAT=T |
(1) TTETTETF FT TS5
(2) Forerer 23T =4TATA
(3) Forer gTeT wEAT
(4) Fer—mgrAat
[Question ID = 77][Question Description = CTET_P1_PART_3_EVS_SET_121_Q77]
. 1 [Option ID = 305]
. 2 [Option ID = 306]

. 3 [Option ID = 307]
. 4 [Option ID = 308]

A W N -



3) Which of the following is nota tool for formative assessment of learning in EVS ?
(1) Rating scale
(2) Annual achievement test
(3) Anecdotal records
(4) Portfolio

et § T F9-97 T9ETT Ae09T o TET F7 TEATCHT AT T aTE
TR ?

(1) &= e /ot
(2) AT ITeATsE T
(3) T (ITEATHTEHT) ATHT

(4) FrETrteET

[Question ID = 78][Question Description = CTET_P1_PART_3_EVS_SET_121_Q78]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

4) Sunita taught her students about the rich flora and fauna in India. Then, she took her students
of primary class to the National Park. This teaching-learning strategy will help her students to
(1) Have fun and enjoy with friends on an outdoor frip.
(2) Develop respect for nature.
(3) Correlate classroom learning to real life.
)

(4) Develop skills for environmental protection.

TAAT 7 AG FRATIAT FT AT § A a9edaal die Sal & aie § 9@ T |
e 712 372 1o I | o 7% | 29 Toveror AT 7 379 gt & 72 enh
(1) STST-9&T 7 ST AT ATAT T A1 F AT S8 o H |

(2) wEts % Ff T AT e 7

(3) FHEHAT-ATAH T ATATAF S A7 F Tg-AFired e | |

(4) TatEoiiT weaw F o Frerer Al w A )

[Question ID = 79][Question Description = CTET_P1_PART_3_EVS_SET_121_Q79]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]




5) Ramesh gives a project to his students to collect information on different dishes prepared
during different festivals in various parts of the country and display it in the classroom. The

objective of this activity is to
(1) know about which food is the most popular foed in our country.

(2) motivate students to try different dishes.
(3) make a record of different dishes cooked in different parts of the country.

(4) sensitize students about diversity of culture in our country.

THI O At i Sor F Atee @ § Arae e # 2w 94
T AR =T T SEEET U A S FAT H 99T F F T uE
af¥ISIAT 3497 8 | 37 AaratE F1 9567 g

(1) 39 § T2 ATHI9T GTo % T H T4 |

(2) w1 ATH 20e ArsrHT o o i T |

(3) =er % TATH=T TEFAT & UaTT T ATer =eia1 H1 (e J9mT |

(4) gHTT 29T | HEpfa &1 Rfaedr a1 § gral &1 g =T |
[Question ID = 80][Question Description = CTET_P1_PART_3_EVS_SET_121_Q80]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]

3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

6) An EVS exhibition was organized in Amit's school. It was organized with an objective,
According to you, which one of the following is the most appropriate objective ?

(1) To satisfy parents

(2) To please Principal and colleagues

(3) To channelize creative instincts in learners
(4)

4) To train learners for future career options

FHT F FeneT § UF 9HEn qeaay AT 9% wReHT a8 | I8
TR U TR F AT AT A1 T oft | s agere, Fetetes § F
FNA-AT TG ITLFT 29T ¢ ?

(1) Far-foaT 1 59t F99 * o

(2) e ST AgH Al Hit T F2d & [0

(3) fFerentfa=t § wgwTen=s gaf= it e 37 & oo

(4) afaeg F Fhae fAweat & forg ferenfaay =1 wforfem w20 % fom

[Question ID = 81][Question Description = CTET_P1_PART_3_EVS_SET_121_Q81]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]
3. 3 [Option ID = 323]
4. 4 [Option ID = 324]



7) Which of the following is notan approach in teaching-learning of EVS ?

(1) Integrated
(2) Process

(3) Autocratic
(4) Conceptual

e & 7 FX7-57 ITEH T2 AT 5 (2007 F Feafead qgie 2

(1) T
(2) st

(3) R=par
(4) A= (UTEUTeE )

[Question ID = 82][Question Description = CTET_P1_PART_3_EVS_SET_121_Q82]

1. 1 [Option ID = 325]

2. 2 [Option ID = 326]

3. 3 [Option ID = 327]

4. 4 [Option ID = 328]

8) Which of the following method of teaching-learning of EVS will develop maximum psychomotor
domain ?
(1) Demonstration method
(2) Lecture method
(3) Integrated method
(4)

4) Poster making method

AT, F gty § Metarea & 7 B &9 F g afasay g9 72 551
A= g 2

(1) w3t fAfE

(2) == =t

(3) T TAfE
(4) TrveT gaTaT =

[Question ID = 83][Question Description = CTET_P1_PART_3_EVS_SET_121_Q83]
1 [Option ID = 329]
2 [Option ID = 330]
3 [Option ID = 331]
4 [Option ID = 332]

A w N =



9) Teaching-learning process in EVS should depend upon

A. Prior learning experiences of children

B. Availability of resources

C. School's Philosophy

D. Needs of children

Choose the correct option -

(1A, B, D
(2)A,B,C
(3)B,C,D
(4)A,B,C,D

T FEAA | fram-aftee e Far g
A F=E1F IF dA991 T

B. #HATHAT il ITASHAT I7

C. f=maT =i o=

D. s=A( # F%dl 97

gl fawed &1 999 %7 -

(1)A, B, D
(2)A, B, C
(3)B,C, D
(4)A,B,C, D
[Question ID = 84][Question Description = CTET_P1_PART_3_EVS_SET_121_Q84]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]

3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

10) Which of the following is @ must in EVS classroom 7

(1) Charts
(2) Projectors
(3) Local resources

(4) Teacher’s knowledge

Renferierd & & T cor-qeaae 6T T § qad S=E1 To4l F47 g ?
(1)=Te

(2) wTTEET

(3) FATATT HHTET

(4) Forerss st

[Question ID = 85][Question Description = CTET_P1_PART_3_EVS_SET_121_Q85]



1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

11) In NCERT EVS book a railway ticket sample has been shown. It is because

(1) students may know about various minute details used in a ticket.
(2) decision-making skills may be developed in students.
(3) students become aware about railways.

(4) observation and communicatiion skills through real-life experience may be developed.

AT ATA. EVS (THET0 Sedde) &f U [EAE § (od [ehe w0 Al

(1) =Tt =1 fesfe & ST B ST ATl TS FHeet it S0 9509 im0
&
(2) =Nt § Aot & wvere =1 EEtaT F2ar 2 |
(3) A== =1 Tora F AT H HFMT FAAAT ¢ |
(4) ATEATEAE ATAT F G HATT AL AAATHRA FIA FT FFHET FIA7E |
[Question ID = 86][Question Description = CTET_P1_PART_3_EVS_SET_121_Q86]
. 1 [Option ID = 341]
. 2 [Option ID = 342]

1
2
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

12) In the process of teaching-learning of EVS, which of the following is developed among learners

?

(1) Good memaory
(2) Recognition

(3) Tendency for learning by doing
(4)

4) Cramming

¢ AT, F sty § Mefieg § & #47 a==1 § @Asaa gare ?

(1) Fr=eft ATETeT

(2) T

(3) F75 *raw #ir T

(4) T
[Question ID = 87][Question Description = CTET_P1_PART_3_EVS_SET_121_Q87]
. 1 [Option ID = 345]

. 2 [Option ID = 346]

1
2
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]



13) In EVS, storytelling is an effective technique. Which of the following is the most appropriate
reason to useit ?

(1) It makes the topic interesting for students.
(2

)

) It develops story writing skills among students.
3) It develops listening skills in students.

)

(
(4) It enables learners to empathise with characters of the story.

TATE HEAA H FEET 2T (FEWT ATEAT) U warE e e g o
feaferfera | | F-9T 20 ITAN F7A HT Ta9 ITIFT FH07 g 2

(1) g 715 =7 et F o T=F a2 |

(2) =g FE=nfagi § Fgrer ora F1 Frere FETwiEd F7497 2 |

(3) =g A==t § go+ &1 197 FFhiad 2 § 732 F441 ¢ |
(4) FE=rTdT gt = 9T |/ AT Al AATAL T Sl T |

[Question ID = 88][Question Description = CTET_P1_PART_3_EVS_SET_121_Q88]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

14) An EVS teacher of class V shows a video to her students in which a bullock cart was carrying a
heavy load due to which the bull was not able to walk properly. The teacher discusses the
video with students so that she can make them think on

1) Importance of bull

2) Importance of bullock cart in transporting goods

3) Exploitation of animals in carrying heavy loads

e, e, e

4) Both importance of bull and importance of bullock cart in tfransporting goods

TTEE FAeAAR 1 Tt/ v e V oF fErmrdt v v Aiear GEw 2
el mm At s i e s sar s g Tt
IAFT AT of ST o

(1) ST T FIATEET 9%

(2) FTITET T ITAWT TiAgT F forg 77

(3) AT =T BT H TYLAT 5 977907 I

(4) FTAT AT T ITAAAT 9% 1 AFATET FT IUART givagy F foro 9
[Question ID = 89][Question Description = CTET_P1_PART_3_EVS_SET_121_Q89]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]

3. 3 [Option ID = 355]
4. 4 [Option ID = 356]



15) In environmental studies, asking guestions by students is important as it indicates

1) What students know

2) Memory/retention power of students
3) What students want to know

4) Capabilities of teacher

e, e, e

TATAEI AT * f9rEA H q==1 g W9 TSAT AATF Hgea I ¢, FAiE T
9T HFdT ©
(1) F==AT =T FAT I4T g ITHT
(2) F=AT Hl ATZ FTA Fl FHAT T
(3) == FIT ATTAT ATgd &
(4) Torer=r T TAHaT 71
[Question ID = 90][Question Description = CTET_P1_PART_3_EVS_SET_121_Q90]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]

3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- HIN_Q91-99_L1_P1_CTET

") fader - [Rwfafaa T &7 9gFT 8 0 T4 # agi/aeas quge I 70
e #r g7 |
e fa=medt & sw 1 fig 5 w1, qg AT B FG9T TTH FIAGT 2 | T AT
=T =7 S RA=Ar it AT AT ATET IAEL AT T 3eaT |
T AT =Arien | o FEEmet § 'y w Agr suEn w4 Ja o 3wes o
T2 ff T FIAT AHGT Tel 2 | T a0y 08 A7 g ST &2 F19 T 7 20 99
FHT 6T Jglz 2 g | ATEAT § AP 295 [AT0T gl g | FOAT AFH0Iar {7
ATAT Wl A AHA 6T FHT 6 qZ (97T 2 | T AR A To097T g 7 Ao
T HEA FIAEAAT § SEA WHATET 2 | 3T ARedl # g 99T F 95946
21 2 | AT F A= T § g7 7o w0 79 [T € | 79T fiq § F "E
FTH FA93 Al 2T |
=T =1 A I F7e & O AEeTT g

(1) 7= ¥ gETE AT

(2) THT T T THAAT

(3) T T F7AT

(4) THT & FTATT HIH 7 HIAT

[Question ID = 121][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q91]



1 [Option ID = 481]
2 [Option ID = 482]
. 3 [Option ID = 483]
. 4 [Option ID = 484]

2 fRder : Awfafaa Teme #1 957 {8 T0 J497 & agi/aay g9gw I 70
e it FfAT |
o fE=met & J9o it T T o, 7g THAAT B0 AT9T ATH FLAm g | Teah
=T =7 S SF=a0 it AT AT ATET TAEL AT T 3ear |
T FIAT FMg T | o E=medt 7 7977 1 980 IR F7ar1 Jiw o g9 T
Tz T FTH FAT AHGT T21 & | T @07 08 G 2 &7 Hlz F79 T F 307 97
HHA AT gTe 34 ¢ | AT § AFTS ThH HO0T gl g | ST AFH0Aar ST
ATAH HT o AT AT FH % dgW (9979 2 | TF AN B ST 7g F Moo
T HIA FIISEAAT § SEA WA 2 | ST ARdT # Tgrd 99T F agIA6
T 8 | AT § @A WA § g7 75 7 79 WS g | 799G T« F A=
FTH FATRE Al 2T |
AT % TFAas SAThAl i TFAaT 1 Tgeg FAT 5 ?

A W N -

(1) 9T FT FETART

(2) T FT FAZ FLAT

(3) THT FT AFIAT

(4) TET THT TT ATTIH Fd gl

[Question ID = 122][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q92]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]



3) A : FafofaT Ters &1 w2 95 T7 7497 # ag/aad g 997 I
fameT Fr g7 |
Fore fE=meft 7 o=g $1 | s &1, 78 FHAaT H AT TTH F4G7 2 | TeAF
=T &7 S R=ar it FHT-HE AT ATET IAEL IHAT T 3ear |
T FEAT =ATen | o FEEmet § ' i Agr sunn A Ja o 3w o
Fre G FH FAT AHTT 721 & | T @w 07 o g &7 15 FH T T 20 T2
T HT J2T% 34 2 | ATEAT § AFTs A% (A940d gIAr g | AIAT AFHIIAT &
AT HT F FHA AT FHI % qgW (G979 2 | TF AN w1 q070T 7 w7 Faed
T T FIAAAAT § S AT [GAATAT 2 | Il Ao w1 Tged a9 F TgIANT
T 2 | AT § 4941 THG § g7 A &1 99y [fEa g /9y g e anE
FTH FATZ Tgl 20l |
F AT THT F¥ FH7 F g T g € 2

(1) ATHT AFHTTAT T ATAT
(2) sroAT Az

(3) &Y FHEt

(4) SATAT ATTATIA

[Question ID = 123][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q93]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]




Y fRder : Fefofera T=ms #7 297 05 77 T4 % ag/aas guge 97 I
fameT Fr g7 |
Fore fE=meft 7 o=g $1 | s &1, 78 FHAaT H AT TTH F4G7 2 | TeAF
=T &7 S R=ar it FHT-HE AT ATET IAEL IHAT T 3ear |
T FEAT =ATen | o FEEmet § ' i Agr sunn A Ja o 3w o
AT T HH TAT AT TE Q| FH A0 T AT SR FH TT TG T
T HT J2T% 34 2 | ATEAT § AFTs A% (A940d gIAr g | AIAT AFHIIAT &
AT HT F FHA AT FHI % qgW (G979 2 | TF AN w1 q070T 7 w7 Faed
T T FIAAAAT § S AT [GAATAT 2 | Il Ao w1 Tged a9 F TgIANT
T 2 | AT § 4941 THG § g7 A &1 99y [fEa g /9y g e anE
FTH FATZ Tgl 20l |
14 o TRt § v agiemr ?

(1) FE9T T A 97

(2) THT FH A 4T
(3) THT ST T 9T
(4) T Afern g a7

[Question ID = 124][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q94]
1. 1 [Option ID = 493]
2. 2 [Option ID = 494]
3. 3 [Option ID = 495]
4. 4 [Option ID = 496]



5 fRder ; fAwfofas T=ner #1 9277 {8 T0 T4 F ag/mas g9 997 A
fame &7 AT |
o A=t & sw 1 Figa S A1, qg AT B FF9T TTH FIAT 2 | T AT
BT =1 srret =t Ff aag-arft sEt arferdr a9 IEE T war |
T FEAT =ATen | o FEEmet § ' i Agr sunn A Ja o 3w o
Fre G FH FAT AHTT 721 & | T @w 07 o g &7 15 FH T T 20 T2
T HT J2T% 34 2 | ATEAT § AFTs A% (A940d gIAr g | AIAT AFHIIAT &
AT HT F FHA AT FHI % qgW (G979 2 | TF AN w1 q070T 7 w7 Faed
T T FIAAAAT § S AT [GAATAT 2 | Il Ao w1 Tged a9 F TgIANT
T 2 | AT § 4941 THG § g7 A &1 99y [fEa g /9y g e anE
FTA FAIS Al grar |
=TT 1 AReTaT I FEA O T HAT ATy ?

(1) THT-ATIO T qTeA

(2) THT FT TFTATT
(3) AFHTTAT FT ITAA

(4) AT T 9T

[Question ID = 125][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q95]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]
3. 3 [Option ID = 499]
4. 4 [Option ID = 500]



o) fader : AafofaT Tere #1 w2F 75 T7 T4 F ag/aad g 997 I
fameT Fr g7 |
Fore fE=meft 7 o=g $1 | s &1, 78 FHAaT H AT TTH F4G7 2 | TeAF
=T &7 S R=ar it FHT-HE AT ATET IAEL IHAT T 3ear |
T FEAT =ATen | o FEEmet § ' i Agr sunn A Ja o 3w o
AT T HH TAT AT TE Q| FH A0 T AT SR FH TT TG T
T HT J2T% 34 2 | ATEAT § AFTs A% (A940d gIAr g | AIAT AFHIIAT &
AT HT F FHA AT FHI % qgW (G979 2 | TF AN w1 q070T 7 w7 Faed
T T FIAAAAT § S AT [GAATAT 2 | Il Ao w1 Tged a9 F TgIANT
T 2 | AT § 4941 THG § g7 A &1 99y [fEa g /9y g e anE
FTH FATZ Tgl 20l |
“FEFHATIAT 151 | A 9157 WA ITEA gl

(1) SFFTT + A7
(2) o + FHET
(3) 9F + FHTAAT
(4) FFH + FUTAT

[Question ID = 126][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q96]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]
3. 3 [Option ID = 503]
4. 4 [Option ID = 504]




" e : FEfofaT TErT #1 TR 9F 7 T4 F ag/aad g 997 I
fameT Fr g7 |
Fore fE=meft 7 o=g $1 | s &1, 78 FHAaT H AT TTH F4G7 2 | TeAF
=T &7 S R=ar it FHT-HE AT ATET IAEL IHAT T 3ear |
T FEAT =ATen | o FEEmet § ' i Agr sunn A Ja o 3w o
Fre G FH FAT AHTT 721 & | T @w 07 o g &7 15 FH T T 20 T2
T HT J2T% 34 2 | ATEAT § AFTs A% (A940d gIAr g | AIAT AFHIIAT &
AT HT F FHA AT FHI % qgW (G979 2 | TF AN w1 q070T 7 w7 Faed
T T FIAAAAT § S AT [GAATAT 2 | Il Ao w1 Tged a9 F TgIANT
T 2 | AT § 4941 THG § g7 A &1 99y [fEa g /9y g e anE
FTH FATZ Tgl 20l |

“HEIART FT AT Sie-EegE g

(1) 7= + 3TAET

(2) A% + START
(3) TF + TTATT

(4) |=T + TUART

[Question ID = 127][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q97]
1. 1 [Option ID = 505]
2. 2 [Option ID = 506]
3. 3 [Option ID = 507]
4. 4 [Option ID = 508]



8 fRder : [RafofaT T=mer #7 =77 75 77 T4 ¥ ag/aas gugT 97 I
fameT Fr g7 |
Fore fE=meft 7 o=g $1 | s &1, 78 FHAaT H AT TTH F4G7 2 | TeAF
=T &7 S R=ar it FHT-HE AT ATET IAEL IHAT T 3ear |
T FEAT =ATen | o FEEmet § ' i Agr sunn A Ja o 3w o
Fre G FH FAT AHTT 721 & | T @w 07 o g &7 15 FH T T 20 T2
T HT J2T% 34 2 | ATEAT § AFTs A% (A940d gIAr g | AIAT AFHIIAT &
AT HT F FHA AT FHI % qgW (G979 2 | TF AN w1 q070T 7 w7 Faed
T T FIAAAAT § S AT [GAATAT 2 | Il Ao w1 Tged a9 F TgIANT
T 2 | AT § 4941 THG § g7 A &1 99y [fEa g /9y g e anE
FTH FATZ Tgl 20l |

‘Rt T HHATAT == Agte
(1) &

(2) =i

(3) @z

(4) wfRawaT

[Question ID = 128][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q98]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]




0 fRder : RafofaT T=mer #7 =77 75 77 T4 ¥ ag/aas ugeh 97 I
fameT Fr g7 |
Fore fE=meft 7 o=g $1 | s &1, 78 FHAaT H AT TTH F4G7 2 | TeAF
=T &7 S R=ar it FHT-HE AT ATET IAEL IHAT T 3ear |
T FEAT =ATen | o FEEmet § ' i Agr sunn A Ja o 3w o
Fre G FH FAT AHTT 721 & | T @w 07 o g &7 15 FH T T 20 T2
T HT J2T% 34 2 | ATEAT § AFTs A% (A940d gIAr g | AIAT AFHIIAT &
AT HT F FHA AT FHI % qgW (G979 2 | TF AN w1 q070T 7 w7 Faed
T T FIAAAAT § S AT [GAATAT 2 | Il Ao w1 Tged a9 F TgIANT
T 2 | AT § 4941 THG § g7 A &1 99y [fEa g /9y g e anE
FTH FATZ Tgl 20l |

ol T2 g
(1) Tt

(2) T
(3) T

(4) T

[Question ID = 129][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q99]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

Topic:- HIN_Q100-105_L1_P1_CTET



") fAder ; AEfoEa R T UEET qE T AT F Gg/AaE gugT 99T a7
AT #T FiA7 |
o I qATAT HeAdTE o, T 3 T9 FF Tq47 0,
TH TGN % EeI TT HATAT Tg-Tgahy T qe |
HY T % TaAT20 | g Ad-1a+ HYHATE Ta7 |
# g rad, AACH, A, T IR = A,
F TEl, @<, TAT LT S =7 H1 A FIEFAT |
AT 20 AT (HHT g — 39 T 9=, I I q6 |
M ATt FAT 2, Tl § g7 g 9= |
TSl AT | 7 A0Mg F7Aa71 g 7

(1) T2t & F=T & forg o =

(2) SH-HT A ATHL TAA 5
(3) HTAATT | & T Tq9TC THT 3

(4) A T TOAT FAT T2 F

[Question ID = 130][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q100]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]
3. 3 [Option ID = 519]
4. 4 [Option ID = 520]



2) frder ; Awfofaa Terer 1 95%% 9 T0 AT # Ggi/Aad g9gw 997 T
o 1 A0 |
T =T AT HAAT A, T 3T T9 AT TAATC A,
TH TGN % EeI TT HATAT Tg-Tgahy T qe |
HY T % TaAT20 | g Ad-1a+ HYHATE Ta7 |
# g rad, AACH, A, T IR = A,
F T2, AL, UAT Tl S &= A7 99 7L 7T |
2T 31 AT FHAT g — 20 97 {27, IH 0 = |
e At @t g, 799 | g7 g 927 |
e st ot 8, J9H § g g A W AT g

(1) Ffa HT A H HAT AT 2
(2) 7 &= F1 TEE AT g
(3) T EE H T SET &

(4) T T | FALTAT T €

[Question ID = 131][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q101]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]



3 fAder ; Awfofaa Terrer 1 95%7 9 T7 TAT # Gg/Aas g9g 997 7T
faFeT 1 FA0 |
T =T AT HAAT A, T 3T T9 AT TAATC A,
TH TGN % EeI TT HATAT Tg-Tgahy T qe |
HE T TAATN | Gl TA-IA7 TLATH T |
# g rad, AACH, A, T IR = A,
F T2, AL, UAT Tl S &= A7 99 7L 7T |
2T 31 AT FHAT g — 20 97 {27, IH 0 = |
e At @t g, 799 | g7 g 927 |
A=t =1 AT AT FF FT TS FT AGH F7 qhar ?
(1) 98 737 599 F7dl g, FAT g% Agl Al
(2) TH e H=HHT 2
(3) IH TGN & eI T AT AAT §

(4) = AFAATAT FTAT ATZAT &

[Question ID = 132][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q102]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]



Y fRder : AEfofaT qermer 1 9297 75 707 T491 % ag/a98 g9qw 97 T
o 1 A0 |
T =T AT HAAT A, T 3T T9 AT TAATC A,
TH TGN % EeI TT HATAT Tg-Tgahy T qe |
HE T TAATN | Gl TA-IA7 TLATH T |
# g rad, AACH, A, T IR = A,
F T2, AL, UAT Tl S &= A7 99 7L 7T |
2T 31 AT FHAT g — 20 97 {27, IH 0 = |
M ATt FAT 2, Tl § g7 g 9= |
AT &1 9319 2

(1) 7gH™H
(2) THATE
(3) frem

(4) TTETATE

[Question ID = 133][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q103]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]




5) fader : Aafofas T=re #7 9297 [ T7 T91 F Tg/aas 9 g9 76
o #r gfAT |
o I AT HHAATE G, T 3 T AT TA972 =,
TH AELN % EHI 9T ATAT Tg-Tgdhy ST qe |
HY T % Ta=AT0 | g Ad-1q HYHTE Ta7 |
# g rae, AETH, A, AT AR = A,
T 7gl, #, TAT el ST J9H7 |7 99 J17 FAT |
AT 2T AT AH= § — 29 97 921, 39 T 9= |
A AT T 2, FET H 27 g 02

(1) TAATE
(2) Tores 713 F@TE Tl 2
(3) Tt

(4) ST T 7 =AT 2T
[Question ID = 134][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q104]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]

3. 3 [Option ID = 535]
4. 4 [Option ID = 536]




6 fader : AafofaT T=re #7 9297 [g T7 T91 F Jg/aas 9 g0 J76
o #r gfAT |
o I AT HHAATE G, T 3 T AT TA972 =,
TH AELN % EHI 9T ATAT Tg-Tgdhy ST qe |
HY T % Ta=AT0 | g Ad-1q HYHTE Ta7 |
# g rae, AETH, A, AT AR = A,
T 7gl, #, TAT el ST J9H7 |7 99 J17 FAT |
AT 2T AT AH= § — 29 97 921, 39 T 9= |
A AT T 2, FET H 27 g 02

(1) AT
(2) =

(3) afav=
(4) ST

[Question ID = 135][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q105]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

Topic:- HIN_Q106-120_L1_P1_CTET
D I E AT IE A A UE T
(1) TATE = | TEAT |
(2) 57 =7 AT T8 =7 T U3 |
(3) TTET FTHIT H 7 o Fwrer |
(4) T3 F AT FEre- AT i = SeAT T 9= AT

[Question ID = 136][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q106]
1. 1 [Option ID = 541]
2. 2 [Option ID = 542]
3. 3 [Option ID = 543]
4. 4 [Option ID = 544]



2) ‘ATANITHE SATHIOT TATAAT AT FIHER I AT T8 ¢ | ATEATss AT

(1) & it 3 31T (F9) AAATA Jaral SATE o HgTeal # 99g g #iT A
ST ATATHT F TEATAT ST 2 |

(2) Frsft yptas ararei % o g = fea aag |

(3) FAT TTFHTAF ATATSA F T ATETGT FTAAT ATH (0T (T T 958 3 |

(4) FTAETTHF =T F AT FE AT 2 Rrg G997 F AT SR & BT H

STTAT 34T |
[Question ID = 137][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q107]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]
3. 3 [Option ID = 547]
4. 4 [Option ID = 548]

3) ATHT ALTTH H ATATHE w7 97 T, = va o s it 959 't v
=99 3 S92 T FEAT AT 2

(1) 372 qEfarT 7@ #fiT Fed 7 9979 % (o0 37 $978 97 @A Ale’, qgt
foreareft 7 7= 7% |

(2) = qlaeTs® SATE U g Atien sgl et 3 g a7 T 9 19 |

(3) FeAT 3 AT FoATed AT TT T T |

(4) TR F T =T et oAt st o st i ' w7 9 |
[Question ID = 138][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q108]
1. 1 [Option ID = 549]
2. 2 [Option ID = 550]

3. 3 [Option ID = 551]
4. 4 [Option ID = 552]

4) FIFAATET ATHTAT UF T (T 0. 0. o Fhaarga+ artead w27 & oo
T AGATNE ?
(1) 937 TH=mers | g1 ST 9197 AR AT

(2) FITRE =0 | FAT TIAT AT FT ATFHAT ] ATATHAD T TATAT
(3) T ATHTAT T TTWT FTAT oo forereff o= 2
(4) =T T ATEAH TZHT AAT ATEAH FF ZA7

[Question ID = 139][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q109]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]



5) wfifaer fagr & Tt oft | =g s AT ¥ ama fyeedt ang el sy e & va
AT | =g ATAEAT AT STt g | AT
(1) SHH AZATSAT 6 1 Ford - F 70 T T &= 7 1 19 F47 § g0

(2) ATT IAT ARTAATICH =T T AT FHedl, Il JTAAT AT HT T Hdl
e T ag 7€ ®afe ¥ o929 729a 77 |

(3) @y I TE=mera & "reas 9oy @t # A £47 omH & ag dear |
srear Tgeat o o |

(4) &7 30 BT 7T F agd | AEATH F I FAL 1 IH fgeal HiEat g |
[Question ID = 140][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q110]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]

3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

o) fmferfaa & & F9-ar Trewrtoar § agi 7= & q%dr ?

(1) F=ETh

(2) FEATTF (Thefie)

(3) FoAT H g2 FAT

(4) FERITE
[Question ID = 141][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q111]
1. 1 [Option ID = 561]
2. 2 [Option ID = 562]

3. 3 [Option ID = 563]
4. 4 [Option ID = 564]

) TE HE q HHT AR g A Sy (4W) 6 s § e
FTH F7d ¢ |

(1) AT==3

(2) ITET

(3) FETheT

(4) FATEA
[Question ID = 142][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q112]
1. 1 [Option ID = 565]
2. 2 [Option ID = 566]

3. 3 [Option ID = 567]
4. 4 [Option ID = 568]



8) I T HIA-AT FLHT dich I i & Hahd FAT G ?
(1) FEvge o

(2) F¥FAT T3
(3) T 7o
(4) =t 729

[Question ID = 143][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q113]
1. 1 [Option ID = 569]
2. 2 [Option ID = 570]
3. 3 [Option ID = 571]
4. 4 [Option ID = 572]

9 FAT ¥ {5 a9z qiw=er w1 &5 =7 7 i e 97 a1 g 2
(1) T T & = 7 foreH T g 7 ey 2
(2) FAT | T57 FAT
(3) T & ST A= A, A, T, st 9t
(4) FeqT F THT ©IT W2t FEntdat £ FOAt, FAT TET w14 A [ T &

GED

[Question ID = 144][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q114]
1. 1 [Option ID = 573]
2. 2 [Option ID = 574]
3. 3 [Option ID = 575]
4. 4 [Option ID = 576]

10) grar #T2wH § T29 agd Ageaq0l ST (e g, #=itn 7 Sty o
(1) ZIeReioren 52 HiEe § 722 Far e |
(2) et 9157 39T =1 o0 AHE HHEE FRar g |
(3) TTEI-TETH F TS H HAIE FAT S |
(4) FEAAT AT FETATITH Fghin gl forad § 932 Far g |

[Question ID = 145][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q115]
1. 1 [Option ID = 577]
2. 2 [Option ID = 578]
3. 3 [Option ID = 579]
4. 4 [Option ID = 580]




") qTaT F FIAATRT AGT F, UETS T HTSAH g1 0 ATGETAT AT AT FH11

(1) =g Za< gl it a9er" § a5 Far g |

(2) sreamow F foro agt &1 9T § STy AT AT g, FAA AT
HLATTF TgATHT B 3 |

(3) FA=rTer & ATGHTIT § URTAT HETAU0 Agl 2 FAI+ UgT % 5AC ATEAHl TT
AT 24T AT |

(4) THEH FEAT AT AZATAT =T § A== vt g e FE=rfE=i =1 w47 § 97067 i
ST TET AT AT F TIOET I FEA § 7EE S TFAlE

[Question ID = 146][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q116]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4. 4 [Option ID = 584]

2) fAufafEs § & F9-897 9% ATEIeqhl F ATaieen-Aiena® M § #Eiad
T ?
O EIEUEEE GREDI
(2) FZZ/FZTT =347
(3) FFr=Fze foeTe 7 &1
(4) TTIT AT FTHLT
[Question ID = 147][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q117]
2. 2 ontion 0 - 586

3. 3 [Option ID = 587]
4. 4 [Option ID = 588]

13) eafayTia= (FTaH) W e J49iaq g ?

(1) eafauTH & == % ge7 @ey $ATd A o0 A6gar
(2) 1T ST Tg 9T531 H FAH T TATAT AT TTRT FHee 301 AT
(3) FETHAT 317 TATE & AT 9T5&1 &l T@AT
(4)Fgr FaAT & Ty forEar
[Question ID = 148][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q118]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]

3. 3 [Option ID = 591]
4. 4 [Option ID = 592]



14) g ATAT T ATLCHAT T TgHT FT A g 41T Irg A9 &I & 7
(1) T ALATT T ATLT T FATATHT F7 g |
(2) TATeT AT AT AT AT G THG THEAL F TAA § A A ¢ |
(3) THTEFA AL F AT HreEl ¥ o 2q 2 |
(4) 7T HT I3 T HEAT TS FA 2 |

[Question ID = 149][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q119]
1. 1 [Option ID = 593]
2. 2 [Option ID = 594]
3. 3 [Option ID = 595]
4. 4 [Option ID = 596]

15) fReferfa § | FT-H7 AT SFTETH F AL H "G ?
(1) = arar § et =1 FEm g araret F @ # arfaa s7ar g
(2) fafere srosdt & fRrqorar 1 B g AT H 2T e |
(3) ATTATHT & THUIET FHET ATAT F Hiaw | HisATe 3o0d Feal 2 |
(4) =T SaTer § ATETAT F G T ATANH g T AT ATArSl FT HET &
oI J8/T Jg1 7= |
[Question ID = 150][Question Description = CTET_P1_PART_4_L1_SET_121_HINDI_Q120]
2. 2 Option 1D - 98]

3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

Topic:- ENG_Q121-128_L2_P1_CTET



1) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. Music emanates from Naad which is manifested in the five natural elements — earth, water,
fire, air and space/ether. It is also called Brahm Naad, which is the basis of life in the world.

2. Naad is the source of generation of music which is a dramatic performance with song,
musical instruments, and dance. In ancient India, the shlokas of the Vedas used to be sung in
melodious tunes while performing religious rites during festivals and specific celebrations.
Vedic music or Sama Sangeet or Classical music has to follow rules strictly according to
scriptures. Classical music is a tool for our spiritual empowerment, discipline; brotherhood,
dignity and unity.

3. Then, folk songs and folk dances began to be performed in social and family get togethers
for amusement in villages or on occasions like marriage, birthday and seasonal festivals. Folk
music and dance are collectively rendered for entertainment with locally fabricated instruments
and ethos.

4. When the mantras of sacred hymns are chanted in unison or devotional songs are sung,
vibrations of words and song currents merge into collective consciousness, purity; peace and
harmony permeate the environment and we feel deeply connected to the Supreme Being.

5. The art of music purifies and heals our mind and intellect. This connects our soul to God,
and we attain peace and bliss. Sweet melodies produce positive impact on the aura. This
triggers the process of purging the mind of the seeker of negative tendencies and impurities,
leading to cheer and joy. Those who suffer from depression get cured. We forget our worries
and misery and become happy in true sense. The experience of music takes one to higher
levels of consciousness and one can begin to feel the spiritual resonance within. It inspires one
to righteous and virtuous living.

Read the following statements carefully and choose the correct option.
(A) Music takes cne to a higher level of consciousnhess.
(B) Music pulls one away from righteous and virtuous living.

(1) (A) is correctand (B) is incorrect
(2) (B) is correct and (A) is incorrect
(3) Both (A) and (B) are correct

(4) Both (A) and (B) are incorrect

[Question ID = 241][Question Description = CTET_P1_PART_5_L2_SET_121_ENGLISH_Q121]

AW N =

1 [Option ID = 961]
2 [Option ID = 962]
3 [Option ID = 963]
4 [Option ID = 964]



2) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. Music emanates from Naad which is manifested in the five natural elements — earth, water,
fire, air and space/ether. It is also called Brahm Naad, which is the basis of life in the world.

2. Naad is the source of generation of music which is a dramatic performance with song,
musical instruments, and dance. In ancient India, the shlokas of the Vedas used to be sung in
melodious tunes while performing religious rites during festivals and specific celebrations.
Vedic music or Sama Sangeet or Classical music has to follow rules strictly according to
scriptures. Classical music is a tool for our spiritual empowerment, discipline; brotherhood,
dignity and unity.

3. Then, folk songs and folk dances began to be performed in social and family get togethers
for amusement in villages or on occasions like marriage, birthday and seasonal festivals. Folk
music and dance are collectively rendered for entertainment with locally fabricated instruments
and ethos.

4. When the mantras of sacred hymns are chanted in unison or devotional songs are sung,
vibrations of words and song currents merge into collective consciousness, purity; peace and
harmony permeate the environment and we feel deeply connected to the Supreme Being.

5. The art of music purifies and heals our mind and intellect. This connects our soul to God,
and we attain peace and bliss. Sweet melodies produce positive impact on the aura. This
triggers the process of purging the mind of the seeker of negative tendencies and impurities,
leading to cheer and joy. Those who suffer from depression get cured. We forget our worries
and misery and become happy in true sense. The experience of music takes one to higher
levels of consciousness and one can begin to feel the spiritual resonance within. It inspires one
to righteous and virtuous living.

Shlokas of the Vedas are sung :

1) during family get togethers and seasonal festivals.

(
(2) while performing religious rites and specific celebrations.
(3) during entertainment activities for villagers.

(

4) during marriage and birthday parties.
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3) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. Music emanates from Naad which is manifested in the five natural elements — earth, water,
fire, air and space/ether. It is also called Brahm Naad, which is the basis of life in the world.

2. Naad is the source of generation of music which is a dramatic performance with song,
musical instruments, and dance. In ancient India, the shlokas of the Vedas used to be sung in
melodious tunes while performing religious rites during festivals and specific celebrations.
Vedic music or Sama Sangeet or Classical music has to follow rules strictly according to
scriptures. Classical music is a tool for our spiritual empowerment, discipline; brotherhood,
dignity and unity.

3. Then, folk songs and folk dances began to be performed in social and family get togethers
for amusement in villages or on occasions like marriage, birthday and seasonal festivals. Folk
music and dance are collectively rendered for entertainment with locally fabricated instruments
and ethos.

4. When the mantras of sacred hymns are chanted in unison or devotional songs are sung,
vibrations of words and song currents merge into collective consciousness, purity; peace and
harmony permeate the environment and we feel deeply connected to the Supreme Being.

5. The art of music purifies and heals our mind and intellect. This connects our soul to God,
and we attain peace and bliss. Sweet melodies produce positive impact on the aura. This
triggers the process of purging the mind of the seeker of negative tendencies and impurities,
leading to cheer and joy. Those who suffer from depression get cured. We forget our worries
and misery and become happy in true sense. The experience of music takes one to higher
levels of consciousness and one can begin to feel the spiritual resonance within. It inspires one
to righteous and virtuous living.

According to the passage, when are chanted in chorus, we feel connected to God.
(1) folk songs
(2) shlokas
(3) hymns
(

4) sweet melodies
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4) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. Music emanates from Naad which is manifested in the five natural elements — earth, water,
fire, air and space/ether. It is also called Brahm Naad, which is the basis of life in the world.

2. Naad is the source of generation of music which is a dramatic performance with song,
musical instruments, and dance. In ancient India, the shlokas of the Vedas used to be sung in
melodious tunes while performing religious rites during festivals and specific celebrations.
Vedic music or Sama Sangeet or Classical music has to follow rules strictly according to
scriptures. Classical music is a tool for our spiritual empowerment, discipline; brotherhood,
dignity and unity.

3. Then, folk songs and folk dances began to be performed in social and family get togethers
for amusement in villages or on occasions like marriage, birthday and seasonal festivals. Folk
music and dance are collectively rendered for entertainment with locally fabricated instruments
and ethos.

4. When the mantras of sacred hymns are chanted in unison or devotional songs are sung,
vibrations of words and song currents merge into collective consciousness, purity; peace and
harmony permeate the environment and we feel deeply connected to the Supreme Being.

5. The art of music purifies and heals our mind and intellect. This connects our soul to God,
and we attain peace and bliss. Sweet melodies produce positive impact on the aura. This
triggers the process of purging the mind of the seeker of negative tendencies and impurities,
leading to cheer and joy. Those who suffer from depression get cured. We forget our worries
and misery and become happy in true sense. The experience of music takes one to higher
levels of consciousness and one can begin to feel the spiritual resonance within. It inspires one
to righteous and virtuous living.

Read the following statement and choose the correct one.

1) Music disables one to tread the spiritual path.

(

(2) Brahm Naad is the exteriority of life.

(3) Folk music and devotional music are one and the same.
(

4) Vedic music follows the rules of scriptures.
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5) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. Music emanates from Naad which is manifested in the five natural elements — earth, water,
fire, air and space/ether. It is also called Brahm Naad, which is the basis of life in the world.

2. Naad is the source of generation of music which is a dramatic performance with song,
musical instruments, and dance. In ancient India, the shlokas of the Vedas used to be sung in
melodious tunes while performing religious rites during festivals and specific celebrations.
Vedic music or Sama Sangeet or Classical music has to follow rules strictly according to
scriptures. Classical music is a tool for our spiritual empowerment, discipline; brotherhood,
dignity and unity.

3. Then, folk songs and folk dances began to be performed in social and family get togethers
for amusement in villages or on occasions like marriage, birthday and seasonal festivals. Folk
music and dance are collectively rendered for entertainment with locally fabricated instruments
and ethos.

4. When the mantras of sacred hymns are chanted in unison or devotional songs are sung,
vibrations of words and song currents merge into collective consciousness, purity; peace and
harmony permeate the environment and we feel deeply connected to the Supreme Being.

5. The art of music purifies and heals our mind and intellect. This connects our soul to God,
and we attain peace and bliss. Sweet melodies produce positive impact on the aura. This
triggers the process of purging the mind of the seeker of negative tendencies and impurities,
leading to cheer and joy. Those who suffer from depression get cured. We forget our worries
and misery and become happy in true sense. The experience of music takes one to higher
levels of consciousness and one can begin to feel the spiritual resonance within. It inspires one
to righteous and virtuous living.

Music helps in curing

1) negative tendencies

(

(2) oppression
(3) acrophaobia
(

4) hydrophobia
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6) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. Music emanates from Naad which is manifested in the five natural elements — earth, water,
fire, air and space/ether. It is also called Brahm Naad, which is the basis of life in the world.

2. Naad is the source of generation of music which is a dramatic performance with song,
musical instruments, and dance. In ancient India, the shlokas of the Vedas used to be sung in
melodious tunes while performing religious rites during festivals and specific celebrations.
Vedic music or Sama Sangeet or Classical music has to follow rules strictly according to
scriptures. Classical music is a tool for our spiritual empowerment, discipline; brotherhood,
dignity and unity.

3. Then, folk songs and folk dances began to be performed in social and family get togethers
for amusement in villages or on occasions like marriage, birthday and seasonal festivals. Folk
music and dance are collectively rendered for entertainment with locally fabricated instruments
and ethos.

4. When the mantras of sacred hymns are chanted in unison or devotional songs are sung,
vibrations of words and song currents merge into collective consciousness, purity; peace and
harmony permeate the environment and we feel deeply connected to the Supreme Being.

5. The art of music purifies and heals our mind and intellect. This connects our soul to God,
and we attain peace and bliss. Sweet melodies produce positive impact on the aura. This
triggers the process of purging the mind of the seeker of negative tendencies and impurities,
leading to cheer and joy. Those who suffer from depression get cured. We forget our worries
and misery and become happy in true sense. The experience of music takes one to higher
levels of consciousness and one can begin to feel the spiritual resonance within. It inspires one
to righteous and virtuous living.

Which of the following word is similar in meaning to the word ‘purging’ as used in para 5 of the
passage ?

(1) Evacuation

(2) Crushing

(3) Excretion

(4) Purification
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7) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. Music emanates from Naad which is manifested in the five natural elements — earth, water,
fire, air and space/ether. It is also called Brahm Naad, which is the basis of life in the world.

2. Naad is the source of generation of music which is a dramatic performance with song,
musical instruments, and dance. In ancient India, the shlokas of the Vedas used to be sung in
melodious tunes while performing religious rites during festivals and specific celebrations.
Vedic music or Sama Sangeet or Classical music has to follow rules strictly according to
scriptures. Classical music is a tool for our spiritual empowerment, discipline; brotherhood,
dignity and unity.

3. Then, folk songs and folk dances began to be performed in social and family get togethers
for amusement in villages or on occasions like marriage, birthday and seasonal festivals. Folk
music and dance are collectively rendered for entertainment with locally fabricated instruments
and ethos.

4. When the mantras of sacred hymns are chanted in unison or devotional songs are sung,
vibrations of words and song currents merge into collective consciousness, purity; peace and
harmony permeate the environment and we feel deeply connected to the Supreme Being.

5. The art of music purifies and heals our mind and intellect. This connects our soul to God,
and we attain peace and bliss. Sweet melodies produce positive impact on the aura. This
triggers the process of purging the mind of the seeker of negative tendencies and impurities,
leading to cheer and joy. Those who suffer from depression get cured. We forget our worries
and misery and become happy in true sense. The experience of music takes one to higher
levels of consciousness and one can begin to feel the spiritual resonance within. It inspires one
to righteous and virtuous living.

Which of the following words in the passage means the same as ‘penetrate’ ?

1) Merge

(

(2) Permeate
(3) Resonance
(

4) Chant
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8) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. Music emanates from Naad which is manifested in the five natural elements — earth, water,
fire, air and space/ether. It is also called Brahm Naad, which is the basis of life in the world.

2. Naad is the source of generation of music which is a dramatic performance with song,
musical instruments, and dance. In ancient India, the shlokas of the Vedas used to be sung in
melodious tunes while performing religious rites during festivals and specific celebrations.
Vedic music or Sama Sangeet or Classical music has to follow rules strictly according to
scriptures. Classical music is a tool for our spiritual empowerment, discipline; brotherhood,
dignity and unity.

3. Then, folk songs and folk dances began to be performed in social and family get togethers
for amusement in villages or on occasions like marriage, birthday and seasonal festivals. Folk
music and dance are collectively rendered for entertainment with locally fabricated instruments
and ethos.

4. When the mantras of sacred hymns are chanted in unison or devotional songs are sung,
vibrations of words and song currents merge into collective consciousness, purity; peace and
harmony permeate the environment and we feel deeply connected to the Supreme Being.

5. The art of music purifies and heals our mind and intellect. This connects our soul to God,
and we attain peace and bliss. Sweet melodies produce positive impact on the aura. This
triggers the process of purging the mind of the seeker of negative tendencies and impurities,
leading to cheer and joy. Those who suffer from depression get cured. We forget our worries
and misery and become happy in true sense. The experience of music takes one to higher
levels of consciousness and one can begin to feel the spiritual resonance within. It inspires one
to righteous and virtuous living.

Which part of speech is the underlined word in the following sentence?
“When the mantras of sacred hymns are chanted...”

(1) Conjunction
(2) Adverb

(3) Noun

(4) Preposition
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1) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. Ladakh, renowned as India’s cold desert is an enchanting place dotted with snow-clad
Himalayas, verdant valleys, high passes, peaceful monks and beautiful monasteries. The fairs
and festivals of Ladakh have played a key role to showcase the true Buddhist culture, and
traditions of this sacred and enchanting land. Hemis Festival is one such prominent festival that
attracts people from across the world.

2. The two day Hemis Festival is celebrated with great enthusiasm and pomp all over the
Ladakh region. The festival is organized in Hemis Gompa, which is one of the largest and
richest Buddhist monasteries in the world. The Buddhist festival is held by the Lama Head fo
celebrate the birth anniversary of Guru Padmasambhava, the Tibetan Buddhism founder.

3. The Hemis Monastery is situated about 40 km away from Leh. It is a UNESCO world
heritage site that is owned by Drukpa Lineage. The monastery is enveloped by the majestic
mountains that captivate the attention of travelers visiting the monastery. The monastery was
primarily founded by the first incarnation of Stagsang Raspa Nawang Gyatso in the year 1630.
There are several stupas made up of gold and silver and holy ‘thankas’ inside the monastery in
addition to the copper-gilt statue of the Lord Buddha.

4. Hemis Festival is one of those festivals that reflect the history, tradition and Buddhist culture.
One of the prime attractions of the festival is the mask dance performed by the Lamas of the
Hemis monastery. The dance illustrates the victory of good over evil. The Lamas dress
themselves in dazzlingly patterned brocades and perform the dance around the central
flagpole, which is situated in the courtyard of the monastery.

5. The dance movements are typically slow and every mask worn by the Lamas represents
certain deities. Some of the dance forms depict the popular Tibetan fables.

What is the essence of the following statement in para 1?7

“The fairs and festivals of Ladakh have played a key role to showcase the true Buddhist culture
and traditions of this sacred and enchanting land.”

(1) Fairs and festivals of Ladakh go hand-in-hand with Buddhist culture.

(2) Fairs and festivals of Ladakh add fun and frolic to the Buddhist culture.

(3) Buddhist culture is a reflection of fairs and festivals of Ladakh.

(4) Fairs and festivals of Ladakh are an exhibit of Buddhist culture.
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2) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. Ladakh, renowned as India’s cold desert is an enchanting place dotted with snow-clad
Himalayas, verdant valleys, high passes, peaceful monks and beautiful monasteries. The fairs
and festivals of Ladakh have played a key role to showcase the true Buddhist culture, and
traditions of this sacred and enchanting land. Hemis Festival is one such prominent festival that
attracts people from across the world.

2. The two day Hemis Festival is celebrated with great enthusiasm and pomp all over the
Ladakh region. The festival is organized in Hemis Gompa, which is one of the largest and
richest Buddhist monasteries in the world. The Buddhist festival is held by the Lama Head fo
celebrate the birth anniversary of Guru Padmasambhava, the Tibetan Buddhism founder.

3. The Hemis Monastery is situated about 40 km away from Leh. It is a UNESCO world
heritage site that is owned by Drukpa Lineage. The monastery is enveloped by the majestic
mountains that captivate the attention of travelers visiting the monastery. The monastery was
primarily founded by the first incarnation of Stagsang Raspa Nawang Gyatso in the year 1630.
There are several stupas made up of gold and silver and holy ‘thankas’ inside the monastery in
addition to the copper-gilt statue of the Lord Buddha.

4. Hemis Festival is one of those festivals that reflect the history, tradition and Buddhist culture.
One of the prime attractions of the festival is the mask dance performed by the Lamas of the
Hemis monastery. The dance illustrates the victory of good over evil. The Lamas dress
themselves in dazzlingly patterned brocades and perform the dance around the central
flagpole, which is situated in the courtyard of the monastery.

5. The dance movements are typically slow and every mask worn by the Lamas represents
certain deities. Some of the dance forms depict the popular Tibetan fables.

The most striking feature that attracts the tourists visiting Hemis monastery is that it is

1) surrounded by splendid mountains.

(
(2) swallowed by huge mountains.
(3) covered by big mountains.

(

4) hidden by rocky mountains.

[Question ID = 250][Question Description = CTET_P1_PART_5_L2_SET_121_ENGLISH_Q130]

AW N =

1 [Option ID = 997]
2 [Option ID = 998]
3 [Option ID = 999]
4 [Option ID = 1000]



3) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. Ladakh, renowned as India’s cold desert is an enchanting place dotted with snow-clad
Himalayas, verdant valleys, high passes, peaceful monks and beautiful monasteries. The fairs
and festivals of Ladakh have played a key role to showcase the true Buddhist culture, and
traditions of this sacred and enchanting land. Hemis Festival is one such prominent festival that
attracts people from across the world.

2. The two day Hemis Festival is celebrated with great enthusiasm and pomp all over the
Ladakh region. The festival is organized in Hemis Gompa, which is one of the largest and
richest Buddhist monasteries in the world. The Buddhist festival is held by the Lama Head fo
celebrate the birth anniversary of Guru Padmasambhava, the Tibetan Buddhism founder.

3. The Hemis Monastery is situated about 40 km away from Leh. It is a UNESCO world
heritage site that is owned by Drukpa Lineage. The monastery is enveloped by the majestic
mountains that captivate the attention of travelers visiting the monastery. The monastery was
primarily founded by the first incarnation of Stagsang Raspa Nawang Gyatso in the year 1630.
There are several stupas made up of gold and silver and holy ‘thankas’ inside the monastery in
addition to the copper-gilt statue of the Lord Buddha.

4. Hemis Festival is one of those festivals that reflect the history, tradition and Buddhist culture.
One of the prime attractions of the festival is the mask dance performed by the Lamas of the
Hemis monastery. The dance illustrates the victory of good over evil. The Lamas dress
themselves in dazzlingly patterned brocades and perform the dance around the central
flagpole, which is situated in the courtyard of the monastery.

5. The dance movements are typically slow and every mask worn by the Lamas represents
certain deities. Some of the dance forms depict the popular Tibetan fables.

The mask dance is the of the Hemis festival.

1) main draw

(

(2) most happening event
(3) most noticeable activity
(

4) highly unimpressive aspect
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4) Directions : Read the passage given below and answer the questions that follow by choosing
the most appropriate options from the given ones.
1. Ladakh, renowned as India’s cold desert is an enchanting place dotted with snow-clad
Himalayas, verdant valleys, high passes, peaceful monks and beautiful monasteries. The fairs
and festivals of Ladakh have played a key role to showcase the true Buddhist culture, and
traditions of this sacred and enchanting land. Hemis Festival is one such prominent festival that
attracts people from across the world.
2. The two day Hemis Festival is celebrated with great enthusiasm and pomp all over the
Ladakh region. The festival is organized in Hemis Gompa, which is one of the largest and
richest Buddhist monasteries in the world. The Buddhist festival is held by the Lama Head fo
celebrate the birth anniversary of Guru Padmasambhava, the Tibetan Buddhism founder.
3. The Hemis Monastery is situated about 40 km away from Leh. It is a UNESCO world
heritage site that is owned by Drukpa Lineage. The monastery is enveloped by the majestic
mountains that captivate the attention of travelers visiting the monastery. The monastery was
primarily founded by the first incarnation of Stagsang Raspa Nawang Gyatso in the year 1630.
There are several stupas made up of gold and silver and holy ‘thankas’ inside the monastery in
addition to the copper-gilt statue of the Lord Buddha.
4. Hemis Festival is one of those festivals that reflect the history, tradition and Buddhist culture.
One of the prime attractions of the festival is the mask dance performed by the Lamas of the
Hemis monastery. The dance illustrates the victory of good over evil. The Lamas dress
themselves in dazzlingly patterned brocades and perform the dance around the central
flagpole, which is situated in the courtyard of the monastery.
5. The dance movements are typically slow and every mask worn by the Lamas represents
certain deities. Some of the dance forms depict the popular Tibetan fables.

Read the following statements and classify them as ‘True (T) and false (F)’ aptly.
A. The Lamas dress in colourful patterned brocades.

B The flagpole is located at the rooftop of the monastery.

C. The dance depicts stories from China.
D

Hemis festival is celebrated as the birth anniversary of Stagsang Raspa Nawang
Gyatso.

E: The statue of Lord Buddha is gilted with copper.

MT,T,FFT
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5) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. Ladakh, renowned as India’s cold desert is an enchanting place dotted with snow-clad
Himalayas, verdant valleys, high passes, peaceful monks and beautiful monasteries. The fairs
and festivals of Ladakh have played a key role to showcase the true Buddhist culture, and
traditions of this sacred and enchanting land. Hemis Festival is one such prominent festival that
attracts people from across the world.

2. The two day Hemis Festival is celebrated with great enthusiasm and pomp all over the
Ladakh region. The festival is organized in Hemis Gompa, which is one of the largest and
richest Buddhist monasteries in the world. The Buddhist festival is held by the Lama Head fo
celebrate the birth anniversary of Guru Padmasambhava, the Tibetan Buddhism founder.

3. The Hemis Monastery is situated about 40 km away from Leh. It is a UNESCO world
heritage site that is owned by Drukpa Lineage. The monastery is enveloped by the majestic
mountains that captivate the attention of travelers visiting the monastery. The monastery was
primarily founded by the first incarnation of Stagsang Raspa Nawang Gyatso in the year 1630.
There are several stupas made up of gold and silver and holy ‘thankas’ inside the monastery in
addition to the copper-gilt statue of the Lord Buddha.

4. Hemis Festival is one of those festivals that reflect the history, tradition and Buddhist culture.
One of the prime attractions of the festival is the mask dance performed by the Lamas of the
Hemis monastery. The dance illustrates the victory of good over evil. The Lamas dress
themselves in dazzlingly patterned brocades and perform the dance around the central
flagpole, which is situated in the courtyard of the monastery.

5. The dance movements are typically slow and every mask worn by the Lamas represents
certain deities. Some of the dance forms depict the popular Tibetan fables.

‘... world heritage site that is owned by Drukpa Lineage’
The underlined is a/an clause.

(1) Principal
(2) Noun

(3) Adjective
(4) Adverb
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6) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. Ladakh, renowned as India’s cold desert is an enchanting place dotted with snow-clad
Himalayas, verdant valleys, high passes, peaceful monks and beautiful monasteries. The fairs
and festivals of Ladakh have played a key role to showcase the true Buddhist culture, and
traditions of this sacred and enchanting land. Hemis Festival is one such prominent festival that
attracts people from across the world.

2. The two day Hemis Festival is celebrated with great enthusiasm and pomp all over the
Ladakh region. The festival is organized in Hemis Gompa, which is one of the largest and
richest Buddhist monasteries in the world. The Buddhist festival is held by the Lama Head fo
celebrate the birth anniversary of Guru Padmasambhava, the Tibetan Buddhism founder.

3. The Hemis Monastery is situated about 40 km away from Leh. It is a UNESCO world
heritage site that is owned by Drukpa Lineage. The monastery is enveloped by the majestic
mountains that captivate the attention of travelers visiting the monastery. The monastery was
primarily founded by the first incarnation of Stagsang Raspa Nawang Gyatso in the year 1630.
There are several stupas made up of gold and silver and holy ‘thankas’ inside the monastery in
addition to the copper-gilt statue of the Lord Buddha.

4. Hemis Festival is one of those festivals that reflect the history, tradition and Buddhist culture.
One of the prime attractions of the festival is the mask dance performed by the Lamas of the
Hemis monastery. The dance illustrates the victory of good over evil. The Lamas dress
themselves in dazzlingly patterned brocades and perform the dance around the central
flagpole, which is situated in the courtyard of the monastery.

5. The dance movements are typically slow and every mask worn by the Lamas represents
certain deities. Some of the dance forms depict the popular Tibetan fables.

Which part of the following sentence contains an error ?
The dance movements are typically slow and
(a) (b)
each mask worn by Lamas represents certain deities.
(c) (d)
(1) (b)
(2) (c)
(3) (d)
(4) (a)
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7) Directions : Read the passage given below and answer the questions that follow by choosing

the most appropriate options from the given ones.

1. Ladakh, renowned as India’s cold desert is an enchanting place dotted with snow-clad
Himalayas, verdant valleys, high passes, peaceful monks and beautiful monasteries. The fairs
and festivals of Ladakh have played a key role to showcase the true Buddhist culture, and
traditions of this sacred and enchanting land. Hemis Festival is one such prominent festival that
attracts people from across the world.

2. The two day Hemis Festival is celebrated with great enthusiasm and pomp all over the
Ladakh region. The festival is organized in Hemis Gompa, which is one of the largest and
richest Buddhist monasteries in the world. The Buddhist festival is held by the Lama Head fo
celebrate the birth anniversary of Guru Padmasambhava, the Tibetan Buddhism founder.

3. The Hemis Monastery is situated about 40 km away from Leh. It is a UNESCO world
heritage site that is owned by Drukpa Lineage. The monastery is enveloped by the majestic
mountains that captivate the attention of travelers visiting the monastery. The monastery was
primarily founded by the first incarnation of Stagsang Raspa Nawang Gyatso in the year 1630.
There are several stupas made up of gold and silver and holy ‘thankas’ inside the monastery in
addition to the copper-gilt statue of the Lord Buddha.

4. Hemis Festival is one of those festivals that reflect the history, tradition and Buddhist culture.
One of the prime attractions of the festival is the mask dance performed by the Lamas of the
Hemis monastery. The dance illustrates the victory of good over evil. The Lamas dress
themselves in dazzlingly patterned brocades and perform the dance around the central
flagpole, which is situated in the courtyard of the monastery.

5. The dance movements are typically slow and every mask worn by the Lamas represents
certain deities. Some of the dance forms depict the popular Tibetan fables.

Which of the following words in the passage means the same as the word ‘triumph’ ?
(1) Renowned
(2) Verdant

(3) Prominent
(

4) Victory

[Question ID = 255][Question Description = CTET_P1_PART_5_L2_SET_121_ENGLISH_Q135]

AW N =

1 [Option ID = 1017]
2 [Option ID = 1018]
3 [Option ID = 1019]
4 [Option ID = 1020]

Topic:- ENG_Q136-150_L2_P1_CTET

1) A teacher must use open-ended instructions in the language classroom and allow learners to

express as it is crucial and

(1) gives authority to the teacher to speak.
(2) gives authority to learners and teachers to speak.
(3) enables learners to increase their knowledge and experience.

(4) helps the teacher to assess learners.

[Question ID = 256][Question Description = CTET_P1_PART_5_L2_SET_121_ENGLISH_Q136]

1.
2.

1 [Option ID = 1021]
2 [Option ID = 1022]



3. 3 [Option ID = 1023]
4. 4 [Option ID = 1024]

2) Caonstructivist approach to language learning includes

1) drilling as an effective tool.

(

(2) habit formation.

(3) inquiry-based learning.
(

4) practising grammar rules.

[Question ID = 257][Question Description = CTET_P1_PART_5_L2_SET_121_ENGLISH_Q137]
1. 1 [Option ID = 1025]
2. 2 [Option ID = 1026]
3. 3 [Option ID = 1027]
4. 4 [Option ID = 1028]

3) Language assessment aims at measuring

(1) how much each learner achieved in comparison to his peers.
(2) their overall or summative achievement.
(3) language achievement of learners.

(4) language proficiency of learners.

[Question ID = 258][Question Description = CTET_P1_PART_5_L2_SET_121_ENGLISH_Q138]
1. 1 [Option ID = 1029]
2. 2 [Option ID = 1030]
3. 3 [Option ID = 1031]
4. 4 [Option ID = 1032]

4) Predicting is a reading comprehension strategy that

(1) readers use to anticipate what comes next by using their prior knowledge.

(2) allows readers to stop and take notes as they read in order to verify what they anticipated.
(3) readers use to anticipate what comes next based on clues from the text.

(4) shows whether or not readers are following along when they are reading the text.

[Question ID = 259][Question Description = CTET_P1_PART_5_L2_SET_121_ENGLISH_Q139]
1. 1 [Option ID = 1033]
2. 2 [Option ID = 1034]
3. 3 [Option ID = 1035]
4. 4 [Option ID = 1036]

5) Which one of the following is nofan example of mixed language use ?

1) Children speak in L1 and teacher responds in L2.

3) Teacher speaks in L2 and children respond in L2.

(
(2) Children speak in L2 and teacher responds in L1.
(
(4) Children switch between L1 and L2.
[Question ID = 260][Question Description = CTET_P1_PART_5_L2_SET_121_ENGLISH_Q140]
1. 1 [Option ID = 1037]
2. 2 [Option ID = 1038]
3. 3 [Option ID = 1039]
4. 4 [Option ID = 1040]



6) Which approach to writing could be stated as learning to write by writing ?

1) Product approach to writing

3) Dictation

(
(2) Process approach to writing
(
(4) Summarising

[Question ID = 261][Question Description = CTET_P1_PART_5_L2_SET_121_ENGLISH_Q141]
1. 1 [Option ID = 1041]
2. 2 [Option ID = 1042]
3. 3 [Option ID = 1043]
4. 4 [Option ID = 1044]

7) In alanguage class, poetry

1) should be taught exactly in the same way as a prose piece is taught.

(
(2) should be taught first by giving an elaborate introduction of the poet.
(3) is for understanding, appreciation and enjoyment.

(

4)is as much about the poem as the poet.

[Question ID = 262][Question Description = CTET_P1_PART_5_L2_SET_121_ENGLISH_Q142]
1. 1 [Option ID = 1045]
2. 2 [Option ID = 1046]
3. 3 [Option ID = 1047]
4. 4 [Option ID = 1048]

8) A print rich environment is essential for children as it enables

1) peer assessment.

(

(2) discussion in the classroom.

(3) self-motivation to read with comprehension.
(

4) the classroom to become attractive and colourful.

[Question ID = 263][Question Description = CTET_P1_PART_5_L2_SET_121_ENGLISH_Q143]
1. 1 [Option ID = 1049]
2. 2 [Option ID = 1050]
3. 3 [Option ID = 1051]
4. 4 [Option ID = 1052]

9) The language that is used formally in textbooks, during assessment and with other
teaching-learning material is

(1) textbook language.

(2) a medium of children’s language.
(3) a medium of instruction.

(4) a State/regional language.

[Question ID = 264][Question Description = CTET_P1_PART_5_L2_SET_121_ENGLISH_Q144]
1. 1 [Option ID = 1053]
2. 2 [Option ID = 1054]
3. 3 [Option ID = 1055]
4. 4 [Option ID = 1056]



10) The method thatis based on the coordination of language and physical movements is

(1) task-based language learning

(2) total physical response

(3) cooperative language learning

(4) communicative language teaching

[Question ID = 265][Question Description = CTET_P1_PART_5_L2_SET_121_ENGLISH_Q145]
1. 1 [Option ID = 1057]
2. 2 [Option ID = 1058]
3. 3 [Option ID = 1059]
4. 4 [Option ID = 1060]

11) Which one of the following could be “the while reading activity” when doing a short story 7

1) Learners discuss to predict the events in the story.

(
(2) Learners do pair work and read mutually to one another.
(3) Learners discuss biographical details of the poet.

(

4) Teacher asks meaning of new words.

[Question ID = 266][Question Description = CTET_P1_PART_5_L2_SET_121_ENGLISH_Q146]
1 [Option ID = 1061]
2 [Option ID = 1062]
3 [Option ID = 1063]
4 [Option ID = 1064]

A W N -

12) Which of the following statements do pof feature in National Education Policy, 2020 ?

1) All children in school should be taught in the medium of instruction of the school.

(

(2) Learning how to read and write must begin in children’s home languages.

(3) Young children learn the best if exposed to multiple languages at their tender age.
(

4) Children should be taught in their mother tongue as learning a new language could be a
challenge for them.

[Question ID = 267][Question Description = CTET_P1_PART_5_L2_SET_121_ENGLISH_Q147]
1 [Option ID = 1065]
2 [Option ID = 1066]
3 [Option ID = 1067]
4 [Option ID = 1068]

A w N =

13)  The development of reading and writing skills

1) can only be improved in language classes.

(

(2) takes place concurrently.

(3) is unrelated to one another.
(

4) happens separately.

[Question ID = 268][Question Description = CTET_P1_PART_5_L2_SET_121_ENGLISH_Q148]
1 [Option ID = 1069]
2 [Option ID = 1070]
3 [Option ID = 1071]
4 [Option ID = 1072]
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14) Passive vocabulary are

(1) words which we use when we listen to them and read them
(2) words which we frequently use with others
(3) words which we use when we write

(4) words which we use when we speak

[Question ID = 269][Question Description = CTET_P1_PART_5_L2_SET_121_ENGLISH_Q149]
1 [Option ID = 1073]

2 [Option ID = 1074]

3 [Option ID = 1075]

4 [Option ID = 1076]

AW N =

15) Which of the following strategies of teaching language is most effective at foundational level ?

(1) Starting from learning alphabets and lessons from the prescribed textbook
(2) Simple oral and written drills at the level of childrens’ comprehension

(3) Fear and stress-free learning environment with exposure to the target language
(4) Emphasis on speaking the target language without using any word from mother tongue

[Question ID = 270][Question Description = CTET_P1_PART_5_L2_SET_121_ENGLISH_Q150]
1 [Option ID = 1077]

2 [Option ID = 1078]

3 [Option ID = 1079]

4 [Option ID = 1080]
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